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1. The upper and lower portions in common 
type of bi-focal lenses are respectively 

(a) concave and convex 

(b). con~ex and concave 

(c) both concave of different focal 
lengths 

(d) both convex of different focal 
lengths 

2. Tungsten is used for the construction of 
filament in electric bulb because of its 

(a) high speeific resistance 

(b) low specific resistance 

(c) high light emitting power 

(d) high melting point 

3. Inactive Nitrogen and Argon gases are 
usually used in electric bulbs in order to 

(a) increase the intensity of light 
emitted 

(b) increase the life of the filament 

(c) make the emitted light coloured 

(d) make the production of bulb 
economical 

4. In the phenomenon of dispersion of light, 
the light wave of shortest wav~length is 

(a) accelerated and refracted the most 

(b) slowed down and "refracted the 
most 

(c) accelerated and refracted the least 

(d) slowed down and refracted the 
least 

5. An oscilloscope is an instrument which 
allows us to see waves produced by 

(a) visible light 

(b) X"rays 

(c) sound 

(d) Gamma· rays 

B-ABQB-N-HLO - A 2 

6. The distribution of electrons into different 
'orbits of an atom, as suggested by 
Bohr; is 
(a) 2 electrons il'l the K-orbit, '6 elec­

trons in the L-orbit, 18 electrons in 
theM-orbit 

(b) 2 electrons in the K-orbit, 8 elec­
trons in the L-orbit, 32 electrons in 
theM-orbit 

(c) 2 electrons in the K-orbit, 8 elec­
trons in the L-orbit, 18 electrons in 
theM-orbit 

(d) 2 electrons in the K-orbit, 8 elec­
trons in the L-orbit, 16 electrons in 
theM-orbit 

7. Carbon or Graphite rods are used in 
atomic reactors as moderators for 
sustained nuclear chain reaction through 
nuclear fission process. In this process 
(a) the neutrons are made fast 

8. 

(b) the protons are made fast 
. (c) the neutrons are made slow 

(d) the protons are made slow 

time 

The distance-time graph for an object 
is shown above. Which one of the 
following statements holds true for 
this object ? · 

(a) The object is moving with uniform· 
speed 

(b) The object is at rest 

(c) The object IS having non-linear 
motion 

(d) The object is moving with non-
uniform speed 
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1. ~ 1'1 I "'l >ICI>R ~ f{;qi) <t><:i1 ~ ~ ~ WIT 

f.r;;ffil!TIT ~T: 
(a) 3l<ffi<'[ 3/tt ~ ma ~ 
(b > ~ 3fu: 3l<ffi<'[ ma ~ 
c c > <:fiT t1m ~ ~ ~ 3l<ffi<'[ ma ~ 
(d) GRtf1m~~~~ma~ 

2. ~ ~ ~ ~ ~ f.r'"lfur if "VWf '<til m 
men t ~ W'i'tiT 
(a) ~ ·f<lf.h1!! >rfuUq men t 
(b) f.l;:;t ~~~men t 

· . (c) ~ wmr -:act~'>H !!;ll1ciT mciT t 
(d) ~ '1"1'1 jq; men t 

3. ~~it ~1<11"'1<1: f.IRM '11'ii~"1'13itt 
3l1llf'1 -ilm '<til m Pi ""1 ~Rile1 it it ~ 
fm:t~t? 
(a) :act~~ "ll'mT <li't ~ <it ~ ~ 
~ 

(b) ~ '<til~ ~ ~ fm:t 
(c) \'lctl~ mr <it ~fFPAT~ ~ ~ 
(d) ~'<til \'lNI~'1 i'&;'!ll<iol ~ ~ fm:t 

4. wmr ~ fcr~ <li't qf<f1c'11 it, ~ 
d{•i~e:4" <li't >r<t>m <R<T 
(a) ~ ~ ""1TC1l t 3ft\ ~ilffil<t> 1!\'lilRfd 

mcrrt 
(b > ~ m- ""1T<1l t 3fu: 611ffu<t> 31 4'1 fdC1 

mcrrt 
(c) ~ m ;;miT t 3ft\ ~ 1!14ilfd'C1 

mcrrt 
(d) ~ m- ""1T<1l t 3ft\~ 31'lilfdd 

mcrrt 
s. Pi""l R:i Ril <1 it it ~ ~ ~ :ac<m "C1"{<it <it 

G1 <1'1 c;~ff ( 31 TR~<·ilt<hl q ) ~ W! ;;rr Wfi<1T 

t? 
(a) ~ >r<t>T~T 

(b) x-mut 
(c) t'lf.r 
(d) 1TTll1 m-at 

3 

6. om:~ "'~ l~ta~fi4<1' fi!lim ~ <li't fcrf1m . 
~ it ~<t?<1•i1 '<til fcrcRuT H""l R:i Ril <1 it it 
~mt? 

(a) K-<iilffi it 2 ~<t<;;l'l, L-<iilffi if 

6 'ii~ if?< 1 '1 , M -<iilffi it 18 'ii~ if?< 1 '1 

(b) K-<iilffi it 2 ~<t<;;l'l, L-<iilffi it 
. 8 ~if<;(1'1, M-<iilffi if 32 'ii~if?<1'1 

(c) K-<iilffi if 2 'ii~if?<l'i, L-<iilffi it 
8 ~<t<;;T'1, M-<iilffiif 18 ~if?<T'1 

(d) K-<iilffi if 2 'ii~<t<;;l'i, L-<iilffi it 
8 'ii~<t<;;T'1, M-<iilffi it 16 ~<t<;;T'1 

1. ~ ;wm ~ ~T<1"T<t>Tm '<til m 
~ R((<tcu i! '1illtciilll fi4<il•s'1 m 
~. ~ '11fitciilt1 ~ ;,jfitfsMI ~~ 

fi4Ji ~"'1 ~ ~ if fcr;<rr ""1T<1T t 1 "'liB" m if 

8. 

(a) ~ ~mit <l'ffi ~ 

Cb> mtr.r ~m it <l'ffi ~ 
(c) ~ tift- tift <l'ffi ~ 
(d) mtf;r tift-tift <l'ffi % 

fi!lim ~ ~ tm:t ~ -Wflt "!IT'll -m<: ~-mn 

111rr t I "'liB" ~ ~ ~ H""l R:i Ril <1 i! it ~ 
m~m'll"t? 

(a) ~ ((<t>~'"i 1'1 'fTii! it 'f<1" uft t 
(b) ~ fi4<i'"il'lttllif t 
(c) ~<t:t11fu~t 

(d) ~ 3ffiJlT'1 'fTii[ it '<t<1" uft t 
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9. For a harmonic oscillator, the graph 
between momentum p and displacement 
q would come out as 

(a) . a straight line 

(b) a parabola 

(c) a circle 

(d) an ellipse 

10. Which one among the following is the 
generic name of the causal organism of 
Elephantiasis ? 

(a) Filaria 

(b) Microfilaria 

(c) Wuchereria bancrofti 

(d) Culex pipiens 

11. Which one among the following state­
ments is not correct ? 

(a) Pulses are rich in proteins 

(b) Milk is a rich source of Vitamin A 

(c) Cereals are very poor source of 
carbohydrates 

(d) Vegetables are rich source of 
minerals 

12. Which· of the statements given below 
are correct ? 

1. A person having blood group 'A' 
can donate blood to persons having 
blood group 'A' and blood group 
'AB'. 

2. A person having blood group 'AB' 
can donate blood to persons having 
blood groups 'A', 'B', 'AB' or '0'. 

3. A person with blood group '0' can 
donate blood to persons having any 
blood group. 

4. A person with blood group '0' can 
receive blood from the person of 
any of the blood groups. 

8-ABQB-N-HLO - A 4 

Select the correct answer usmg the 
code given below : 

· (a) 1, 2, 3 and 4 

(b) 1 and 2 only 

(c) 3 and 4 only 

(d) I and 3 only 

13. Which one among the following is the 
correct pathway for the elimination of 
urine? 

(a) Kidneys, Ureters, Bladder, Urethra 

(b) Kidneys, Urethra, Bladder, Ureters 

(c) Urethra, Ureters, Bladder, Kidneys 

(d) Bladder, Ureters, Kidneys, Urethra 

14. Which of the following parts are found 
in both plant and animal cells ? 

(a) Cell membrane, Chloroplast, Vacuole 

(b) Cell wall, Nucleus, Vacuole 

(c) Cell membrane, Cytoplasm, Nucleus 

(d) Cell wall, Chloroplast, Cytoplasm 

15. Which of the following statements is/are 
·correct 1 

I. Coronary artery supplies blood to 
heart muscles. 

2. Pulmonary vein supplies blood to 
lungs. 

3. Hepatic artery supplies blood to 
kidneys. 

4. Renal vein supplies blood to kidneys. 

Select the correct answer using the 
code given below : 

(a) 1,2and3 

(b) 1 and 2 only 

(c) 2 and 4 

(d) 1, 3 and 4 
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9. f<R:fT 3IT'ICff ~ ~ ~. m p wn 
fitf'lll4'1 q ~ lltZ1 "ll1'!l ~ m-m ? 

(a) m<'!Wr 
(b) 4(i'l<1!l 

(c) 'B 

(d)~ 

10. Pl1<1R1Rli<t ~it~ m; ~ ~ <1•1'111<'11 

;iftq q;r <l~T-"'11ll ~ ? 

(a) 'hiti0l!'l:41 

(b) l'II~Sf,'i'hi\'ii'!f«ti 

(c) ~~ ii'1Sfli<R1 

(d) "'{<'liffi '~"~'~4"\m:l .. ~lrn:\{~"' 

n. f.l1<1 ~fut<t ~ it q,'t;f m 1:% q;iR ~ ~ 

~? 

(a) GT<'I't ~ >il"iR <lit 1f¥IT men ~ 
(b) ~ Rtc::il~'1 A<m~m~~ 

(c) 3RlOf 'llloift;i•4<:: ·~ ~ 3f<'q m 
ma~ 

<d) ("1 fO'lt<l i ~ <R~ Wf.i;. ..mr men ~ 
12. ~ M 11it ~ ~ q,'t;y it ~ ~ ? 

I. • 91f • A' '!Tffi ~ ozffin, • 'flf 
'A' Clill m1R 'flf "AB' <nit <4 Rt><i'i 'Iii 
m1R GFf <g <f'l1(ll ~ I 

2. m1R 'flf 'AB' '!Tffi ~ ozffin, m1R 
q1'f . ~A' , 'B', 'AB' 3f?:fCIT '0' Cl"ffi 
<4 fffi4l <fit m1R GFf <g <f'l1(ll ~ I 

3. mm: 'flf ·o · '!Tffi ozmn, f<R:fT m 3F< 

• 'flf <nit ozffin <lit • GFf <g 

<f'l1(ll ~ I 

4. mm: 'flf ·o · <ffi;rr ozmn, fcRft m mm: 
'flf 'flit 01ffu; it m1R "i't <f'l1(ll ~ I 

5 

~M~<p:<m~<g~~ 

~: 
(a) .1, 2, 3 3ft<: 4 

(b) ~ 1 3ft<: 2 

(c) ~ 3 3ft<: 4 

(d) ~ 1 3ft<: 3 

13. R1<1Rlfuta ~it q,'t;f m 1:%, ~-R<I'Il<"l 

q;r~lfllf~? 

(a) 'fl'li, 1f<'ll;ft, ~~fl!, ~ 

(b) 'fl'li, ~. ~fl!, 1f<'l1;ft 

(c) ~' 1f<'ll;ft, ~fl!, 'fl'li 
(d) ~fll, 1f<'ll;ft, 'fl'li, ~ 

14 . . f.l1<1f<'1Rli<t ~it~ it liFT il'1f4R1 3ft<:~ 

<:'Rt it ~T'IlTii ~ '1W ;;ffit ~ ? 

(a) ~T'IlT q;m, mtf ~. fl:fui<111 

. (b) ~T'I11-i11fu, ~. f<Rii'lli 

(c) ~T'IlT q;m, ~T'IlT ~. ~ 

(d) ~T'I11-i11fu, mtf~. ~T'IlT~ 

15. f.I1<1Rlf<ila ~ it ~ m/it q;iR ~ 

~/~? . 
L qfl:~<to1'1 W!'ft ~ ~ft 'Iii mi <lit 'lf<f 

"11\cft ~ 1 '. 

2. ~ ftm ~ <fit m; <lit ~ 
"11\cft ~ I 

3. ~ m '!'f'l1l <fit m; <lit 1f<f "11\cft 
~I 

4. · ~ ftm '!'f'l1l <fit m; <lit~ "11\cft . 
~I 

~M11it<p:<m~<g~~. 

~: 
(a) 1, 2 ~ 3 

(b) ~ 1 3fu: 2 

(c) 2 3ft<:· 4 

(d) 1, 3 '3ft<: 4 

A - B-ABQB-N-HLO 
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16 .. Which Qf the following was the theme 
of World Environment Day 2014? 

(a) Green Economy. DQes it include 
you? 

(h) Think. Eat. Save 

(c) Many Species. One Planet. One 
Future 

(d) Small Islands and Climate Change 

17. Which one of the follQwing types of 
pesticides is convenient to control stored 
grain pests ? 

(a) Systemic pesticides 

(h) Fumigants 

(c) Contact poisons 

(d) Stomach poisons 

18. Match List I with List II and select the 
correct answer using the code given 
below the Lists : 

List I List II 
(Animal) (Phyla) 

A. Ascaris 1. Mammalia 

B. Malarial parasite 2. Arthropoda 

C. Housefly 3. Nematoda 

D. Cow 4. Protozoa 

Code: 

A B c D 

(a) 3 4 2 1 

(h) 3· 2 4 1 

(c) 1 2 4 3 

(d) 1 4 2 3 

B-ABQB-N-HLO - A 6 

19. Which one among the following pairs 
is not correctly matched ? 

(a) Sandal wood plant 

(h) Cuscuta 

(c) Nepenthes 

(d) Mushrooms 

Partial root 
parasite 

Parasite 

Carnivorous 

Autotroph 

20. Which one among the following cattle 
breed produces highest amount of milk ? 

(a) Brown Swiss 

(h) Holstein 

(c) Dutch belted 

(d) Blaarkop 

21. Bagasse, a by-product of sugar manu­
facturing industry, is · used for the 
production of 

(a) ·glass 

(h) paper 

(c) rubber 

(d) cement 

22. The main constituent of Gobar gas is 

(a) Ethane 

(h) Methane 

(c) Propane 

(d) Acetylene 

23. Which of the following ts a good 
lubricant ? . 

(a) Diamond powder 

(h) Graphite powder 

(c) Molten carbon 

(d) Alloy of carbon and iron 
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16. f.tkl~rua it q,'t;f m, fu<r q4f<~<"l ~ 
2014<fit~-~ ?:IT? 

(a) mtJ ::>1 <I <4 'lf41. 'fl!T ~ 3lT'1<1it 
ft!Ul~a w t? 

(b) ~.wm.~ 

(c) m "'lfd4i (~~fur). ~ m;. ~ 
~ 

(d) ~ ~ 3ft\ "'<'I"' 19; qf(q<f'1 

11. f.tkl~rua mili 4"h;'ll'11~l'ilitl!-.m-m 
~. >is1f(a 3AT"'l iii~ "'Ill~~ 
it~t? 
(a) mit <fl:;;<11'11~ft 
(b) ~ 

(c) m~ 

(d) 3lT11Wilf ~ 

18. ~ I cit ~ II it; ~ Wl~d ~ 
3ft\ ~ iii ~ M ~ ~ "'Ill w:im "'Ill: 
~~~: 

~I 
(~) 

A. QJ'Illi'(f{ 

B. 11<'11'(41-q<"~l<n 

c.~ lf'R"fl 

D.1Tilf 

. ~: 

A B 
(a) 3 4 
(b) 3 2 
(c) I 2 
(d) I 4 

c 
2 
4 
4 
2 

~II 
("flq) 

!.~~ 
(ilfl~41) 

2. @m;~ 

.. ( 3111JiK1sl) 

3. ~"11fil ~ 
(~1112ls1) 

4.~ 

D 
I 

I 
3 

3 

7 

19. f.tkl~rua it l! q,'t;f m ~ ~ ~ tiil~a 
;nff t ? 

(a) ~ "<!lT1"' -.fim ~l<li-~ 
q(;;(lq') 

(b) 'llf1lll q01l<t'l 

(c) ~q<>4'l"' .. 11 iftll;IU 

(d) ~ ~ 

· 20. f.tkl~rua it l! q,'t;f m ~ ~ ;:m;r ~~"'Ill 

fl"'ffuq; l!1'fl it '3c<ll<;'1 w t ? 

(a) ~m 

(b) Q'i<+il'1 

(c)~$ 

(d) «11<<11Tq 

21. ~mr f.rl1fur -am iii a4ic<llc; ~"'Ill w:ITrr 
~ '3,.ql<;'1 it;~ m<rr t ? 

(a) q;R 

(b)~ 

(c) ~ 

(d)~ 

22. -.fr.R ~ "'Ill ~ 3l<fll"'" 'fl!T t ? 

(a)~ 

(b) it~. 

(c) m<R 
(d) . ~t~lfl<11'1 

23. f.tkl~rua it l! -.m- m, ~ ~ ~ ? 

(a) ~ '["f 

(b) ~'["f 

(c) 'lf.m <lil<f'1 

• 

(d) <lil<f'1 3ft\~ <f;T 11m"~ 

A - B-ABQB-N-HLO 
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24. In Tritium (T), the number of protons (P) 
and neutrons (N) respectively are 

(a) 1 P and 1 N 

(b) 1 P and 2 N 

(c) 1 P and 3 N 

(d) 2 P and 1 N 

25. When carbon dioxide is passed through 
lime water, the solution turns milky, but, 
on prolonged passage, the solution turns 
clear. This is because 

(a) the calcium carbonate formed 
initially is converted to soluble 
calcium bicarbonate on passage of 

. more carbon dioxide 

(b) the reaction is reversible and lime 
water is regenerated 

(c) the calcium bicarbonate formed 
initially is converted to soluble 
calcium carbonate on passage of 
more carbon dioxide 

(d) the initially formed insoluble 
compound is soluble in carbonic 
acid. 

·26. The form of carbon known as graphite 

(a) is harder than diamond 

(b) contains a higher percentage of 
carbon than diamond · 

(c) is a better electrical conductor than 
diamond 

(d) has equal carbon-to-carbon dis­
tances in all directions 

27. Which one among the following is an 
example of chemical change ? 

(a) The melting of an ice cube 

(b) The boiling of gasoline 

(c) The frying of an egg 

(d) Attraction of an iron nail to a 
magnet 

B-ABQB-N-HLO - A 8 

28 •. Which of the following is not correct 
about Baking Soda ? 

(a) It is used in soda-acid fire extin-
guisher 

(b) It is added for faster cooking 

(c) It is a corrosive base 

(d) It neutralizes excess acid m the 
stomach 

29. Chromium oxide m paints makes the 
colour of paint 

(a) Green 

(b) White 

(c) Red 

(d) Blue 

30. Which of the following are the most 
important reason/ reasons of flood 
becoming a destructive natuml hazard in 
the Ganga-Bmhrnaputra valley? 

1. Due to population pressure more 
and more people are living in flood 
prone areas 

2. Increased frequency and magnitude 
of landslide and soil erosion in the 
upper catchments 

3. Increase in the amount and intensity 
of minfall in the north-western part 
of India 

Select the . correct answer ·using the 
code given below : 

(a) 1 only 

(b) 1 and 2 only 

(c) 2 and 3 only 

(d) I, 2 and 3 
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24. ?l'!iflll+1 (T) it mtR (P) 3ft<:~ (N) <liT ... 
m ~r: <fl!T ~ ? 

ca) · 1 P 3ft<: 1 N 

(b) 1 P 3ft<: 2 N 

(c) 1 P 3ft<: 3 N 

(d) 2 P 3ft<: 1.N 

25; ~ ~ ~ it 1'liT<f.l Wi011iffi I '!is Sl'l I ftcP'IK'f 

'R ~ ~ -m -;;miTt '1ql ~ tfl1l:[ 

(!q; Sl<t 1fta <Wt 'R ~ m<n m -;;mrr ~ I 

~ 'fiR1JT ~ f<ti 
(a) 3ft<: ~ 1'liT<R W<311iffi l'ii& Sl'l 1{ta 

~ 'R ~ it "AT ~Hlll+1 q;l<if.k 

~fur ~Hlll+1 <~l'!iq;laif.'lc it .. 
<§'q ia Ra m -;;mrr ~ 

(b) 31!'il Rt>lll '36;11+1 oflll ~ 3ft<: ~ '!lT ~ 

f'R: ~ G('f -;;miT ~ 

(c) 3ft<: ~ 1'liT<R W<311iffil'ii& Sl<tlfta 

~ '1'1:, ~ it "AT ~Hlll+1 

<~l'!i4il.rf.ic ~fur ~Hlll+1 q;1.rf.ic 

it <§'q i a fl:a m -;;miT ~ 

(d) ~ it "AT ~fur <ftilrq;, 

q;1arrf.1q; 3ll<'! .if ~fur men ~ 
26. ~ 'flT ~ ~. f;ffi ~ ~ ~. 

(a) ~ ~. Cliit<: men~ 
(b) ~<liT ~m~<li't ~·~Td<IT 

'ffi'IT men ~ 
(c) ~<li't31Gm~~~men~ 
(d) trlft fr;:~mit it ~-~-~ <liT 

m ~ 'ffi'IT men~ 
27. f.11<1Plfula it ~ ~ m \%, <lfllllf.iq; 

qfl:qc1<J '<til '3<;1\!(01 ~ ? 

(a) <r<fi ~ "l'i 'flT 1'<1 'H'I <! I 

(b) il<it<1l<J <if~ . 
c c) M ~ 'flT <lC'IT ;;rr;n 

(d) ~<liT M ~ .'flr ~ ~ 1!fu 
3!T'IilfuT 
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28. ·~ mm ~ ~ it fi1"'1f<'lf<.'la it ~ 
~m~~~? 

(a) ~ 'lfll1<r m-3ll<'! .w:rq;. it 
men~ 

(b) ~ ~ ~<liT fil;<n q;) cfurcR CfKi:t 
~. 1m( f1l 01 Ill I ';;fR!T ~ 

c c) ~ '% 'tim I\1T(q; ~ 

(d) ~ 3!TlmTif it 3ll<'! ~ ~ q;) 

f.1 '* •w" 'l 'IKCIT ~ 

29. w it Sill 11lli+1 311<m l'ii&, i!c: '<til ~ m ~ 
~~? 

(a) '\lU 

(b) :Rn 

(c) <'irM 

(d) .nm 

30. 1ilrr-OfiPT! w it ~ ~ Wffir<i>TU 
>1 i<fRI q; 31T'!GT ~ 'flT /~ f.11<1 R1 ful a it ~ 
~ m /~ Wiffuq; W!lmnoft 'q;l(OJ ~ 1~ ? 

L "'<! ti €4 I G"'1'f ~ q;r(1lf 3ifuq;yfuq; oWr 
~ >l<!'lT lim it w w ~ 

2. ~ "'Ml'i\!01 lim it '11-~ 3ft<: lfGT 
3I'RG'f <fi't ~ ~ .~ 3ft<: qf{lliOI 

3. m<cf ~ "3W-'lf'lfiflft 'm1T it ep;;f ~ 
q f<+11 01 3ft<: cfuraT if ~ 

~ ~ <Tit 'F '<til 'lfll1<r 'li{ ~ "3W 
~: 

·(a) ~ 1 

(b) ~. 1 3ft<: 2 

(c) ~ 2 3ft<: 3 

(d) 1, 2 3ft<: 3 

A - 8-ABQB-N-HLO 
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31. Arrange the following states oflndia on 
the basis of conferring statehood (starting 
from the earliest) : 

1. Arunachal Pradesh 

2. Nagaland 

3. Sikkim 

4. Meghalaya 

Select the correct answer usmg the 
code given below : 

(a) 2 - 4 - 3 - ·I 

(b) . 2 - 1 ..:. 4 - 3 

(c) 4 - I - 3 - 2 

(d) 4 - I - 2 - 3 

32. Plate tectonics is a scientific theory 
that describes the large scale motions of 
Earth's lithosphere. Which one among 
the following statements regarding Plate 
tectonics is not correct ? 

(a) Tectonic plates are composed of 
Oceanic lithosphere and thicker 
Continental lithosphere 

(b) Tectonic plates are able to move 
because the Earth's lithosphere has 
a higher strength than the under­
lying asthenosphere 

(c) The Earth's lithosphere is broken up 
into Tectonic Plates 

(d) Along divergent plate> boundaries, 
subduction carries plates into the 
mantle 

B-ABQB-N-HLO - A 10 

33. Consider the diagram given below : 

lOlimb 1020mb 

998mb 

0 
The above diagram represents the 
pressure conditions of three different 
places, viz., A; B and C. Which of the 
following is the correct direction of 
movement of winds ? 

(a) Blow from B towards A and C 

(b) Blow from C towards A and B 

(c) Blow from B to A and from A to C 

(d) Blow from B to C and C to B 

34. Consider the following statements 
regarding ground water in India : 

I. The large scale exploitation of 
ground water is done with the help 
of tube-wells. 

2. The demand for ground water 
started increasing with the advent 
of green revolution. . 

3. The total replenishable ground water 
reserves is highest in the hilly tracts 
of Sikkim, Nagaland and Tripura. 

Which of the statements given above 
is/are correct.? 

(a) 1 and 2 only 

(b) I only 

(c) 2 and 3 only 

(d) 1., 2 and 3 
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. 
31. 1lffi! ~ P!Afuf€1<1 ~ q;'t, ~ ~ 'liT 

"@: >rGF! ~ 'iff.~ ~ 3TTlm: "' ~ 
~ (311'iW1 ~ ~ 'IK) : 

4. flElli14 

(a) 2 - 4 - 3 - 1 
• 

(b) 2 - 1 - 4 - 3 

(c) 4 - 1 - 3 - 2 

(d) 4- 1 - 2 - 3 

32. ~ ~ t14i1110i;i1 <liT ~ ~ "' ~ 
'liT ~ m ~ ~ ~ P<t<tdf.l<hl 1l;'li 

~#IIPiill i'eO!ilkl t I~ P<l<tcfH<hl ~~ 

-ij PtA fu f€1 <1 ~ -ij ~ <WI m 1l;'li mit 
~t? 

(a) P<t<tcfHill ~ 111;11.11<1{ill t14i111Ui;i1 3fu: 

31i'l<~w£•<~ -mz 111;.1\:l<fl4 t14i1110i;i1 ~ 

-.Rt~ 

(b) ~ ~ t14i1+10i;i1 <liT ~"1<1<11, 6idf.ffi;d 

~-~ <liT ;mw ~· ~. ·~ 
CfiR'I[ P<t" JH"' ~ "llfcr m -ij m ~ 

· (c) ~ 'liT t<li111U6ii1 P<t<tcfHill ~ -ij 

~t 

(d) 31lmTft ~ tft<n3i\ ~ ~T, ~R 
~ q;'t 3!T'I\UT ~ 3fi'G\ <'! ;:;mrr t 

.11 

1012mb 1020mb 

998mb 

0 
~ M 1]it 311W -ij ciR ~~A, B 

3fu: C'R ~<liT ~Rilll q;'t Gl!Tf4T wn t. I 
PtAWif€1<~ "ij<Wf"ffi, m~~<li'tmft 
furr t ? 

(a) B ~ A3fu: C<lil aTR ~ t 
(b) C~ A3fu: B<lil aTR~t 

(c) B ~ A <liT aTR <1m A ~ C <liT aTR 
~t 

(d) B ~ C <liT am <1m C, ~ B <liT aTR 
~t 

34. 1lffi! -ij 11,11"1<'1 ~·~ -ij P!Af<>if€1<1 ~ 
~f<r;m:~: 

L '1i1'!i41 <liT e\;14<11 ~ 4111"1<1 'liT ~ 

~ "' e'jqlli"1'1 f<mT wn t 
2. mtr "Siiifu ~ 3lllT1R ~ <1M-<1M 

4111"1 iii <liT 1li1! ~ m ~ 
3. FewM, '11'11~0{5 3fu: ~ ~ ~ 

~~iT -ij ~ 1ff:'i?f41•4 4111"1<1 ~ 
'3'iii@1 ~ 

~ M 1]it ~ -ij <WI m/~ mft 
t/~? 

(a) ~ 1 3fu: 2 

(b) ~I 

(c) ~ 2 3fu: 3 

(d) I, 2 3fu: 3 

A - B-ABQB-N-HLO 
' 
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35. Union Government in June 2014 granted 
Navaratna status to 

I. Engineers India Ltd. 

2. Coal India Ltd. 

3. India Trnde Promotion Organization 

4. National Buildings Construction 
Corporntion Ltd. 

Select the correct answer usmg the 
code given below : 

(a) I, 2, 3 and 4 

(b) 2 and 3 only 

(c) 1 and 4 only 

(d) ·1, 2 and 3 only 

36. MONEX is associated with 
• 

(a) Montreal experiment 

(b) Monetary experiment 

(c) Lunar experiment 

(d) Monsoon experiment 

37. Which one of the following would 
have happened if the Himalayas did 
not exist? 

(a) Monsoon rnins would have taken 
place in winter months 

(b) Coastal India would have experi­
enced Mediterranean climate 

(c) North Indian plain would have been 
much cooler in winter 

(d) North western part of India would 
have experienced humid condition 

8-ABQB-N-HLO - A 12 

38. Match List I with List II and select the 
correct answer using the code given 
below the Lists : 

List I List II 
(Phenomenon) (Date) 

A. Summer solstice I. .21st June 

B. Winter solstice 2. 22nd December 

C. Vernal Equinox 3. 23rd September 

D. Autumnal 4. 21st March 
Equinox 

Code: 

A B c D 

(a) 1 4 2 3 

(b) 1 2 4 3 

(c) 3 2 4 1 

(d) 3 4 2 1 

39. Which of the following statements 
regarding jhum cultivation in India are 
correct? 

I. It is largely practised in North­
Eastern Indian states. 

2. It is referred to as 'slash and burn' 
technique. 

3. In it, the fertility of soil is exhausted 
in a few years. 

Select the correct answer usmg the 
code given below : 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 
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35. ~ m<m: if¥ 2014lt ~ ;mM <lit 
~~<lit? 

I. '01if.t<Hf ~ f<'lf'lls 

4. ~ l!<R f.n:rfur f.mlf f<'lf>lts 

6;tR ~ ~ ~ "it q;R m/"« ~ 
t/~? 

(a) I, 2, 3 3l'l<: 4 

(b) ~ 2 3lR 3 

(c) ~I 3l'l<: 4 

(d) ~ I, 2 3fu: 3 

36. MONEX~~t? 

(a) 11 Tfii'?;<H'i w:i'm 

(b) ~w:i"m 

(d) ~w:i"m 

37. ~ ~.,'"''"'-q<fu ~ ~"it~mm 
m RA R:t Rila "it "« '141 ~ -&crr ? 

(a) ~~~lt~~'fflfm<ft 

(b) ·'dit<i mm "it 1fl&H1 t•t<l<t ~mat 

(c) ~"it ;re<: >it<J\4 ~ 3l'l<: 3lfttq; 

m~ 

c d) mm ~ ;re<:-'lf':pp:ft 'lWT "it 3lTi\-W:rfu 
m-at• 

13 

38. ~ I q,'l ~ II~ ~ tt~fi'la ~ 
3lR ~ ~ m ~ ~ ;p; q;r w:i'm <g 

~;re<:~: 
• 
~I 

(tRJn') 

A.lfl1il1 ~ 

B.~fur~ 

C.~~ 

D.~~~ 

~· 
A 

(a) I 

(b) I 

(c) 3 

(d) 3 

B 

4 

2 

2 

4. 

. ~II 

(~) 

I. 21¥ 

2. 22 ffi*1kf{ 

3. 23 fudkf{ 

4. 21llR 

C D 

2 3 

4 3 

4 1 

2 I 

39. mm "it~~~~ "it f.tAR:tRila ~ 
"it "« q;R "« ~ ~ ? 

I. ~· mm ~ ;re<:-~ ~ ~ 

~rn: wrr "itt 1 

2. w '<mf;; $' aq;;flq; .~ ~ "it 
'3Rl Rila fc6in ;;nm t 1 

3. ~. lfGT <lit~~ <m 1t trm~ 
m;;mfttl ' 

m ~ ~ ;p; q;r w:i'm <g ~ ;re<: . 

~: 

(a) ~ 1 3ft< 2 

(b) ~23ft< 3 

(c) ~ 1 3ft< 3 

(d) 1, 2 3ft< 3 

A - B-ABQB-N-HLO 
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40. Arrange the following features formed 
by rivers in its course starting from 
upstream: 

I. Meanders 

2. Falls 

3. Delta 

4. Oxbow Lake . 
Select the correct answer using the 
code given below : 

(a) 2-1-3-4 

(b) 2 - 1 - 4 - 3 

(c) 1 - 2 - 3 - 4 

(d) 1 - 4 - 2 - 3 

41. ·Which of the following statements 
relating to Indian agriculture is/ are 
correct? 

I. India · has the World's largest 
cropped area. 

2. Cropping pattern is dominated by 
cereal crop. 

3. The average size of an Indian farm 
holding is too small for several 
agricultural operations. 

Select the correct answer using the 
code given below : 

(a) 1 only 

(b) I and 2 only 

(c) 2 and 3 only 

(d) I, 2 and ·3 

42. Collision-Coalescence process of precipi­
tation is applicable to 

(a) clouds which extend beyond freez­
ing level 

(b) those clouds which do not extend 
beyqnd the freezing level 

(c) all types of clouds 

(d) cumulonimbus cloud 

B-ABQB-N-HLO - A 14 

43. Arrange the following tiger reserves of · 
India from North to South : 

I. Indravati 

2. Dudhwa 

3. Bandipur 

4. Similipal 

Select ·the correct answer usmg the 
code given below : 

(a) 3 - 4 - 1 - 2 

(b) 4 - 2 - 3 - I 

. (c) 2 - 4 - 1 - 3 

(d) 2 - 1 - 4 - 3 

44. Which of the following idl are basically 
meant to be deployed in the northern 
borders of India for monitoring the 
borders and also to stop smuggling and 
illegal immigration ? 

I. Assam Rifles 

2. Border Security Force 

3. Indo Tibet Border Police 

4. National Security Guards 

Select the correct answer using the 
code given below : · 

(a) 2 ,and 3 

(b) I and 2 
(c) 3 only 

(d) 4 

45. Which of the following is/are the 
potential threat to safety of large dams ? 

. I. Urbanisation near dam sites 

2. Flash floods in catchment area 
3. Setsmic activities in surrounding 

area 

Select the correct answer using the 
code given below : 
(a) I only 

(b) I and .3 only 

(c) 2 and 3 only 

(a) 1, 2 and 3 
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4o. - mu ~ l1Tif ~ <r.ft Pi10<1~Rild 
f<room<lil, ;;;ut~'ll~~m'lil:, ~ 
~: 

I. fcrn<f 
2. >l'mf 

3.~ 

4. 'iN-~ 

~ ~ ~ 'F Chi wWr <g ~ \ffl\ 

~: 
(a) 2 - I - 3 - 4 
(b) 2 - I - 4 - 3 
(c) I - 2 - 3 - 4 
(d) I - 4 - 2 - 3 

41. •u<d1<t ~ ~ ~ ~ f.t10<1~Rild ~ ~ 
~ q,'t.nrr /~ ~ "V~ ? 

I. 'lfRCI~f<r~<hl~~ ~%I 

2. ~~W;f~ !lR"~<fit ~ili!'Zidi 

%1 
3. ill( \1tll ~ ;;j'ffi ~ Chi 3limr ;mq;r: 

m~~m~~~ 
~%1 

~ ~ ~ 'F Chi wWr <g ~ \ffl\ 

~: 
(a) ~I 

(b) ~I 3W 2 

(c) ~ 2 aiR 3 

(d) I, 2 alR 3 

42. 'fffur Chi~-~ "llSfilf mr 'R 31 1~9,..ti 

Wcrr% ? 

(a) %1i'l<ll<OI-«f\ ~ cR ~ lteif 'I\ 
(b) '3"'llteit 'R ~ %11 I 'f>(Oj «r< ~ tR ~ 
~~ 

(c) -mft Wf;R ~ lteit 'R 

(d) ~ w itt! 'R 

15 

43. 'lfRCI ~ PI 10<1 ~ Ril C1 a:mr #1;Td ~ ( ~ 
m> <liT \ffl\ ~ ~1\lUT <trr am ~ 
~: 
1.~ 
2.~ 

3.~ 
4 .. fufll<1t%1 
~ ~ ~ 'F Chi wWr <g ~ \ffl\ 
~: 
(a) 3.- 4 - I - 2 
(b) 4 - 2 - 3 - I 
(c) 2 - 4 - I - 3 
(d) 2 - I - 4 - 3 

44. f.t"'1~f<ild ~ -H ~ 'lfRCI <trr ~ tfPITm 
'R tfPITm ~ Jii'11m w:rr ~ am: 
::t1'1~Ffd ::tli~'ll(1'1 <liT ~ ~ ~ 
qf{f.t<i'IN-td ~ ;;rR ~ lf'l<l: Jmrf!ra% ? 

I. 3!WI (1~4i<'*l 

2. tfPIT w.n """ 
3. "l1RC!-fcrooRr tfPIT 'ffirn 
4. ~~lTRG 
~ ~ 'Tit 'F Chi wWr <g . ~ \ffl\ 
~: . 

(a) 2 aiR 3 

(b) I aiR 2 

(c) ~ 3 
(d) 4 . 

45. ~ oritit <fit ~m ~ ~ H"'1~Rild ~ ~ 
~ ti>11MC113<Rlt/~~? 

J. Ofi~ ~ ~ '1ffi ~~~{J<Ii(Oj 

2, ''I<'BI~OI ~ ~ 31i<llM<Il ~ 
3. 3!Tfl'1ffi ~ ~ it ~ 6 fstilldl 

~ ~ ~ 'F Chi wWr <g ~ \ffl\ 

~: 
(a) ~I 
(b) ~I 3ft\ .3 

(c) ~ 2 aiR 3 

(d) I, 2 3ft\ 3 

. A - B-ABQB-N-HLO 
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46. The Equatorial region has no other 
season except summer. What could be 
the reason? 

I. The length of day and night is more 
or less equal over the year 

2. The Earth's rotational velocity is 
maximum at the Equator 

3. The coriolis force IS zero at the 
Equator 

Select the correct answer usmg the 
code given below : 

(a) I only 

(b) I and 2 only 

(c) 2 and 3 only 

(d) 1, 2 and 3 

4 7. Match List I with List II and select the 
correct answer using the code given 
below the Lists : 

List I 
(Hill range of Central India) 

0 
0 0 
0 0 

0 0 

0 

A. Satpura 
B. Mahadeo 

C. Vindhya 
D. Maikala 

List II 
(Location in map) 

B-ABQB-N-HLO - A 

Q, 
oo 
00 
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Code: 

A B c D 
(a) 4 3 I 2 

(b) 4 1 3 2 
(c) 2 1 3 4 

(d) 2 3 1 4 

48. Consider the following statements 
relating to the Non-Alignment Move­
ment: 

I. The Non-Aligned Movement 
(NAM) was created and founded 
during the collapse of the colonial 
system and the independence 
struggles of the peoples of Africa, 
Asia, Latin America and other 
regions of the world and at the 
height of the Cold War. · 

2. The First Summit of the Move­
ment of Non-Aligned Countries 
was convened by the leaders of 
India, Indonesia, · Egypt, Syria 
and Yugoslavia . at Belgrade on 
September I - 6, I 961. 

3. During the early days of the Move­
ment, its actions were a key factor 
in the decolopization process, which 
led later to the attainment of 
freedom by many countries and to 
the founding of several new 
sovereign States. 

4. The fundamental principle of the 
movement is to maintain equal 
distance from both the super 
powers by joining the military 
alliances of both the blocs. · 

Which of the statements given above 
·are correct ? 

(a) I, 2 and 3 

(b) 2 and .3 only 

(c) I, 3 and 4 

(d) I and 2 only 
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46. fil':);'ldl4 ~ ~ ~ i); 3Rl'IT <€~{ om:~ 

~ m-at 1 ~ 'I4T q;]'"\UT m ~ t ? 

1. 'f <!1f ~ ~ om: w <'fl1"ll1T tfl'IT'f ~ 
i);~~ 

2.~ q;r ~ ~ ~ ¥ '!\ 

~mcrrt 
3. ~ ¥ '!\ <lillba Of<'! ~F 

mcrrt 
~~1]V;'Fq;r~<g~~ 

~: 
(a) ~ 1 

(b) ~ 1 om: 2 

(c) ~ 2 offi: 3 

(d) 1, 2 om: 3 

47. ~ I <liT ~ IIi); "fW1" tfl~C1 -~ 
om: ~ i); ~ ~ <TV: 'F q;r ~ <g 

~~~: 
<['fti 

(lf"!.<f m«f <fit~ ~) 

A.~ 

0 

' 0 
' 0 c 0 
0 

B.~ 
c: f.!i!Zf 
D.~ 

~II 
(.,..+! 1,....'1 ~~""::1 if 31 <H41 i1 ) 

I -""'2 '3 4 

Q, 
oo 
oo 

',o 
o0o 

17 

~: 

A B c D 

(a) 4 3 1 2 

(b) 4 1 3 2 

(c) 2 1 3 . 4 

(d) 2 3 1 4 

48. :rc:-f.Wt&l <il1~<+1 "it ~ f.i'"'1f<'lfGC1 

~'Rf<RR~: 

1. 'jC:-~ ilii~W1 (NAM) ;aqf.i~~T<li 

. ~ <lit wrrfu om: 3!'.£tq;r' ~fl!T' 
fu 3!llOO om: ~ i); 3l"l ~$it i); 

"<'l1rrri\;.fCici'lC11 ~i);~ aiR~~ 

i); ~ '!\ ~ i); tJl!4" ~ om: 

~ Ri 13 I f<i C1 f<rnT 1fl!T ~ I 

2. :rc:-f.Wt&l ~it i); ilil~cl'1 q;r ~ 

ftJ<R <JUt <'1'1 "I1RCf' ~fl!T' llm' 
mWn offi: g<fl HI f<l4 I i); -i\crr3ft ~ 
~~ 1-6 RW'<~< 1961 ~ 31141~<1 

f<rnT 1fl!T ~ I 

3 . ::.1 I"' I iii '1 i); Si I d){"' Wit ~' ~ "'iiT1:f 

~~R ~ qiT <lllTl1 "'liB ~ 1JG!f 
q;r('li >t ;it OilG ~~~~it~ fCid'lC11 

>rm "'liB om:~~ Si~C1 l~q'>l ~ i); 
. ~ ~ "'iRuT "GR I 

4. 31 1~<'1'1 q;r ~ RlO\il'fl zyn -wt i); 

~ ~!Rt ~ 6MR>IC1 m <g zyn 
~ ~rfu;l:it "it tfl'IT'f ~ ~ "&'11 t I 

~~lf((~~om"ft~~? 

(a) 1, 2 om: 3 

(b) -~2om: 3 

(c) I, 3 offi: 4 

(d) ~Joffi:2 

A - B-ABQB-N-HLO 
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. 49. Consider the following statements 
relating to the World Bank : 

I. The World Bank was established in 
1946, which is headquartered in 
New York. 

2. The World Bank Group has set for 
itself the goal to end extreme 
poverty from the World by 2030. 

3. The World Bank is a vital source 
of financial and technical assistance 
to developing countries around the 
world. It . is not a bank in the 
ordinary sense but a unique partner­
ship to reduce poverty and support 
development. 

4. The World Bank Group comprises 
five institutions managed by their 
member countries in order to 
promote shared prosperity by 
fostering the income growth of the 
bottom 40% for every country. 

Which of the statements given above 
are correct ? 

(a) 1; 2 and 3 

(b) 2, 3 and 4 

(c) I, 3 and 4 

(d) 2 and 4 only 

50. Which of the following statements about 
International Monetary Fund (IMF) are 
correct? 

I. The IMF is a United Nations 
specialized agency. 

2. The IMF was founded at the 
Bretton Woods Conference in 1944 
to secure international monetary 
cooperation. 

3. The objective of the IMF is to . 
stabilize currency exchange rates, 
and to expand international liquidity 
(access to hard currencies). 

B-ABQB-N-HLO - A 18 

Select the correct answer using the 
code given below : 

(a) I, 2 and 3 

(b) 2 and 3 only 

(c) I and 2 only 

(d) I and 3 only · 

51. Consider the following statements 
relating to the World Trade Organization 
(WTO): 

I. The WTO deals with the global 
rules of trade between nations. 

2. The goal of the WTO is to help 
producers of goods and services, 
exporters, and importers conduct 
their business. 

3. The WTO, which is a successor 
body of the General Agreement on 
Tariffs and Trade, came into being 
following the Uruguay Round of 
Negotiations. 

4. The WTO distances itself m 
framing of rules on trade in . 
intellectual property rights. 

Which of the statements given above 
are correct ? 

(a) I, 2 and 3 

(b) 2, 3 and 4 

(c) I, 2 and 4 

(d) I and 3 only 
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.. 

49. fori!<! ~ ~ ~ PiklPI~ct ~ tR 

fcr;rn:~: 

1. fcrilO! ~ i 946 it f\':11 fq C1 ~ 1!<l'r 
~ lj€41&11'1 ~it~ I 

2. fori!<! ~ ~ ~ 2030 (ICii fori!<! ~ 'iRlf 

.-rom wmr ~ . <it 3l'RT <'!1;'< 

f.!t~ffi:ct ~ t I 
3. fcrilO! ~ fcrilO! m: it M<llle~flor ~iT -1!> · 

~ ~ 3i'R ct<ll41<h1 t1 ~ 14 <11 q;[ \(<ll 

'l~c<lt"f -mer t 1 ~ t11'll'4 w:i'i it \(<ll 

~ -.m t ~ .-rom <it q;1'[ ~ 
3i'R fciq;m <it si'ict~.ll.\'1 -~ <lit <(<ll 

~ til!il~Rl t I 

4. fcrilO! ~ ~. ~ ~~T -if; Fffil «R -if; 

40% <it<i't <lit 3l1l< ~ <it ~~ ct\11';'1 ~ 

~ 'tiTffi ~ <it ~ -if; ~ 3!'R 
trzy:r ~~iT ~ >r<ifmr -.:ri'! -m-rarr ~ 
~Offi!Tt I 

'3i'R~~~itq,l;{~mit~? 

(a) 1, 2 3i'R 3 

(b) 2, 3 3i'R 4 

(c) 1, 3 3i'R 4 

(d) ~ 2 3i'R 4 

50. 3iams~"l4 'lji:T ~ (IMF)' -1!> ~ it 
Pik1Rlt?ita it~ q;R ~~mit~ ? 

1. IMF Wjffi ~ Wt '<liT <(<ll f<ffi'ffi 
111fl:l<h<•1 t I 

2. IMF <it 3ict«l"?l4 ~ ~ 

~l!'ffi ~ -if; ~ 1944 it ~ iiC'1' 
~ eli1<1'1 it ~ ~ 1f4l 1 

3. IMF q;r ~~ 'lji:T filf.i'l4 ~ <it 
. ~ 'llzyf <R'1T am 3ia«l~'l4 

<K<1dl q;[ fi.R:<rn: <R'1T ( ~ 'lji:TaiT 

(ICii ~ OT'1T'!T) ~ I 

19 

.;tit ~ ;rlt ~ q;[ '5l<i'm <j;\ mit ~ .. 

~: 

(a) 1, 2 3i'R 3 · 

(b) ~ 2 3i'R 3 

(c) ~ 1 3i'R 2 

(d) ~ 1 3i'R 3 

.. 
51. fcrilO! cxrnT< ~ · (WTO) ~ ~ 

Pikl Rl~a ~ tR fcr;rn: ~ : 

1. WTO ~ -1!> -.fR cxrnT< -1!> fi1 ~C\041'11 
f.!wit ~ <ioit~ W<1T t I 

2. WTO q;r <'f~ "lT<'' t('f ooait -if; 

;:scq lc;'hl, Pi4fa'hl 3i'R 1111£11a'hl <it 
~ cxrnT< fi-q 1<'1'1 it t1~14<1 I <R'1T . 

tl 

3. WTO, ;;it~ t('f O!fi'1R 'fioim ~ 
~q;y~~t.-~ 
<:tt <lit. filtlct1af -if; . q({on'l ~ 

~it3lll<ll 

4. WTO -.1\f.l;,q; W'l'c;T ~ -if; cxrnT< 

-if; f.rn:r ~ ~ ~ <it ~ W<1T t I 

'3i'R ~ ;rlt ~ it q;R ~ mit ~ ? 

(a) 1, 2 3i'R 3 

(b) 2, 3 3i'R 4 . 

(c) 1, 2 3i'R 4 

(d) ~ 1 3i'R 3 
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52. Consider the following statements about 
local government in India : 

I. Article 40 of Indian Constitution 
provides for the State to organize 
village panchayats and endow them 
with such powers and authority as 
may be necessary to make them 
function as units of self-government 

2. The 73rd and 74th Constitution 
Amendments inserted Part IX and 
IX A in the ~onstitution. 

3. The provisions in J:'arts IX and 
IX A of Indian Constitution are 
more or less parallel and analogous. 

4. The 73rd Constitution Amendment is 
applicable to all states irrespective 
of size of population. 

Which of the statements given above 
are correct ? 

(a) 1 and 2 only 

(b) 1, 2 and 3 only 

(c) 3 and 4 only 

(d) 1, 2, 3 and 4 

53.· Which of the following is not correct 
regarding the 2014 FIFA Football World 
Cup? 

(a) 'We Are One' is the official song 

(b) 'Dar um Jeito (We Will Find A 
Way)' is the official anthem 

(c) Brazil is the first country to host a 
· World Cup for the second time 

(d) For the first time two consecutive 
World Cups are not hosted in 
Europe 

B-ABQB-N-HLO - A 20 

5_4. World Bank in June 2014 released a 
study report on India's Power Sector 
titled 'More Power to India : The • 
Challenge of Electricity Distribution'. 
Which of the following is/ are the key 
recommendation(s) of the report? 

I. Ensure regulatory autonomy, effec­
tiveness and accountability for 
utilities and regulators 

2. Insulate utilities from State Govern­
ments to prevent interference with 
internal operations -

3. Scrap the Electricity Act 2003 in 
order to improve the revenue 
generation of the power distribution 
companies ' 

Select the correct answer using the 
code given below : 

(a) 1, 2 and 3 

(b) I and 2 only 

(c) 2 only 

(d) 1 and 3 only 

55. Which of the following .is/are depart­
ment(s) in Ministry of Defence 7 

1. Department of Defence 

2. Department of Defence Research 
and De;velopment 

3. Department of Defence Production 

4. Department of Defence Finance 

Select the correct answer using the 
code given below : 

(a) 1 and 2 only 

(b) I, 2 and 3 

(c) 2, 3 and 4 

(d) 1 only 
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52. 'lfRC[ .q f'4 14'1 ll .~Tffi'f ~ ~ .q Pl+<i f{;j ful Ci 
~ "R f<r;m: ~ : 

I. 'lfRC[~~~~40-q~ 

wu l!ll! <i"' ill e~l cit 1Jfuf ~ q;r 3ft\ 

~ it"ffi ~lfuilli 3ft\ ~iRl<ilR ~ ~ 

<!>[ ~q t "11 ~ t<filRf ~Tffi'f <fit 
'!i<ili~l ~~it q;l1f ~ ~ ~ 

·3Ji~~ll<il ~ I 

2. 73 it'~" 74 it el'iltti<t mm ~ efittt1'1 
it 'llflT IX 3ft\ IX A cit ~ M I 

3. 'lfRC! ~ <ifcrqr;; ~ 'llflT IX 'll.'f IX A~ 

~ <'I1T1l1T wricR: 3ft\ ~ ~ I 

4. 73 'I! e!'iltti<t miltR "l<te&:u ~ 
3!l"<ilR <!>[ tl1R ~ foRT <!'1ft ~ "R 

<'fl1l t I 

~~<m~it~"«~~? 

(a) ~ 1 3ft\ 2 

(b) ~ 1, 2 3ft\ 3 

(c) ~ 3 3ft\ 4 

(d) 1, 2, 3 3ft\ 4 

53. 2014 FIFA :!><!011<"1 'fit'~ q;q il; ~ it 
f.\+<1 ffi ful Cl it "« ~ m ~ "iftf t ? 

(a) 'eft 3lR '1<1' ~ 1fur t 
(b) 'm am -;;fuit (eft f<r.r ~ ~ ~) ' 
~lfRt 

(c) ~. ~ '<il'l" <fit~ G!R i'l"10114l 

~ 'fT<'i1 ~ ~~T t 
(d) ~ G!R <1'11(11( ~ ~ '<ll'ft <fit 

i'I"'0114l ~it~~ 
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54.~~~~ 2014it 'lfRC[~~ ~tR 
~ ~ 'ft:<nt <!>f, ~ ~fttf<il "'lfRC! 

cit 31fuq; ~ : ~ f«<RuT <fit ~" 
~. l'il<il"'<t f<!;l:rr 1 Pl+<if<iifliiCI it"«~ m 
W ftG1t <fit ~ fWnift~T t/ rulfiiR~ ~ ? 

1. "1<1'iq<i'l•fl ~3ft 3ft\ f.llli'l<il ~ ~ 

f.lll I '1 <il l:4 Ill '6 Ci I , ~ Iii fil Ci I 3ft\ 

<lt~<c;il'4c<i t!PIN-iiCI ~ ;;m:( 

2. "1'1iq4l•fl ~ <!>[ ~ ~{<Ill(! "«. 
3l"taft<il m~•mn it ~~ ~ f.l~~<•l 
~ ~ UtR f<!;l:rr ~ 

3. ~ f«<RuT <i;qf.lq'j ~ ~ ;;r.r;;-~ 

~~~f<lw! 3iRlf.llli1 2003cit 

wmfq;"{~~ 

;ft;). ~ ~ 'fl <!>[ wWr '11{ ~ ~ 

~: 

(a) 1, 2 3ft\ 3 

(b) ~ 1 3ft\ 2 

(c) ~2 

(d) ~ 1 3ft\ 3 

55. Pl+<iR>lR!ICi .q ~. \&IT >i'll<1ll '<Ill/~ 

~t/~? 

1. \&IT~ 

2. \&IT~ 'll.'f ~ ~ 
3. \&IT '3<'11<;<1 ~ 

4. \&!Tm~ 

;ft;) ~ .m 'fl <!>[ wWr '11{ ~ ~ 

~: 

(a) ~13ft\2 

(b) 1,23ft\3 

(c) 2, 3 3ft\ 4 

(d) ~1 

A - B-ABQB-N-HLO 
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56. Consider the following statements about 
State Election Commission : 

1. The State Election Commissioner 
shall be appointed by the Governor 
of the State. 

2. The State Election Commission shall 
have the power of even preparing 
the electoral rolls besides the power. 
of superintendence, direction and 
control of election to the panchayats. 

3. The State Election Commissioner 
cannot be removed in any manner 
from his office until he demits 
himself or completes his tenure. 

Which of the above statements is/are 
correct? 

(a) I, 2 and 3 

(b) I and 2 only 

(c) 2 and 3 only 

(d) I only 

57. Which of the following is/are Para­
militarY Force(s) of India? 

1. Indian Coast Guard 

2. Assam Rifles 

3. Directorate General of Resettlement 

Select the correct answer using the 
code given below : 

(a) I, 2 and 3 

(b) I and 3 only 

. (c) 2 only 

(d) 1 and 2 only 
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58. 'Garuda-V', concluded recently, is a joint 
exercise between the Air Forces of 
India and 

(a) Japan 

(b) Canada 

(c) Russia 

(d) France 

59. Which of the following statements about 
Indian Judiciary is not correct ? 

(a) The Constitution of India has not 
provided . for double system of 
cour!S as in the United States 

(b) The organization of the subordinate. 
judiciary in India varies slightly 
from State to State 

(c) Every State in India has separate 
High Court 

· (d) The Supreme Court has issued 
direction to constitute an All India · 
Judicial Service to bring about 
uniformity in designation of officers 
in criminal and civil side 

60. Which among the following about the 
Rangarajan Panel Report on poverty 
estimation (submitted in July, 2014) is/are 
correct( · 

1. The report states that three out of 
ten people in India are poor 

2. The report endorsed the Tendulkar 
committee suggestion on determining 
poverty line in India 

Select the correct answer using the 
code given below : 

(a) I only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 
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56. ~ f.t<1f"'1'1 3ffll'\1r ~ <rR it f.tl<1f<ilf€ia 

cm:it 'q<:· fcRm: ~ : 

1. ~'liT f.tqf"'1'1 3!l'lffi ~ ~ (1"4YI<1 

~~M~I 

2. ~ f.tqf"'1'1 3!Tll'\1r 'liT ci'iil11nl ~ 

f.tqf"'1'1 ~ :mn~. ~R 3i't< f.t~"'"l 
cl?r ~rfui ~ 3!ffiCIT f.tqfoqq; '1111 wfl 
OI"'R <fr m ~rfui ~ 1 

3. ~ ~ f.tqf'ii'1 3!l'lffi 'liT~'«;-« 
flf;tft m >I'm -« ~ ~ ;;rr ~ 
";if<f Wli ~ ~ m Y<;i'41'1 '1 ~ <n 

·~Wffif'f~~l 

• it-«~ m;-« ~ ttit v~? 

(a) I, 2 3ilu 

(b) ~ I 3i't< 2 

(c) ~ 2 3i't< 3 

(d) ~I 

57. f.t'""' fu f€1 a it "« ~ m /u, 'liT((! q;r /~ 
~<~<'~~/~? 

3. ~ 11i:\IH~~~ 

~ M ~ <F q;r wrt<r. ~ ttit '3m 

~: 

(a) I, 2 3i't< 3 

(b) ~ I 3i't< 3 

(c) ~2 

(d) ~ I 3i't< 2 
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5s. ~mit~~ ·"lfQS-v', 'l!T((!wnttw 
3i'\"( ~~T <fr <11@'11oiT ~ oi'l'ii" ~ 3fl'1:Tffi 

~? 
(a) "f[t{R 

(b)~ 

(c) <Rl 

(d) "!rnT 

59. >lRcil11 '4111Yif<'l&>l ~orR it H"'1fuf€itt it"« 
~m~ttit~~? 
(a) 'liT((!~~ it, ~ ~ 3111:fl&>l 

<fr C1W, '41111 <141 cl?r ® "II"'T<1l q;r 

~q~fifi<n~ 

(b) 'liT((! it 31~ "'li11Y I fu i'f> I q;r Wfo;; 

3TWT-3TWT~it ~m~ 
(c) 'liT((! ~ ~ ~ it 3TWT ~ 

'41111<111 ~ 

(d) 3Tl"RTfuq; 3i't< ~ ~!~ ~ 
~ ~ it l(41\?YC11 "<1li't 1\; ~ 

Z3'iiil <111 '41111 <111 it "l(41 ~ >11 «1111 

"'ll fltq; Wn ~ 1fOil ~ ~ ~T ;;ffiT 

m-r~ 

60. f.r$rcrr 3ll'li<1'i" 1:f{ {<I( I"' '1 ~ trot (~ 
20 14 it mwr) ~ <rR it f.t "'1 fu f€1 a it -« <~>T.r 
m /"« ttit v~ ? 

1. ~ Mti it ~ 1J'TT ~ f<l; 'liT((! it ~ 
. it ·"« <fR <'i\lr 1f:fl<r ~ 

2. w Mti . it 'liT((! it -.m.rr 00 q;r 

Hilf(OI ~ filiil11'h ilSji'h( ~ cl?r 
~q;r~f<mr~ 

~ M ~ 'F 'liT wrt<r ~ ttit '3m 

~:. 
(a) ~I 

. (b) ~2 
(c) I 3i't< 2 <:'Rf 
(d) '1 <IT1,.,. m 2 
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61. In May 2014, an agreement for credit 
of US $ 24 million (equivalent) from 
World Bank for additional financing for 
Uttarakhand Rural. Water Supply and 
Sanitation Project was signed. The 
objective/ oi)jectives of the agreement 
was/were 

1. To improve the effectiveness of 
rural water supply and sanitation 
(RWSS) services through decentra­
lization 

2. To restore services of damaged 
schemes in the disaster affected 
areas in the State of Uttarakhand 

Select the correct answer using the 
code given below : 

(a) 1 only 

(!)) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

62. Which·of the following statements about 
India-Sri Lanka relations is/ are correct ? 

. I. India and Sri Lanh have a Free 
Trade Agreement. 

2. India has emerged as . the highest 
exporter to Sri Lanka as on May 
2014. 

Select the correct answer using the 
code given below : 

(a) I only 

(!)) 2 only 

(c) Both I and 2 

(d) Neither I nor 2 
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63. Which among the following is/ are 
correct statement about Malawi ? 

I. Malawi is a landlocked country in 
southeast Africa that was formerly 
known as Nyasaland 

2. It has presidential system with 
unitary form of government 

3. Malawi's economy is highly 
dependent on agriculture and 
majority of the population is rural 

·Select the correct answer using · the 
code given below : 

(a) I only 

(!)) 2 and 3 only 

(c) 1, 2 and 3 

(d) I and 3 only 

64. Consider the following statements about 
FIFA: 

1. It is an association governed by 
Swiss law, founded in 1904 and 
based in Zurich. 

2. FIFA has been engaging with. its 
stakeholders and other institutions 
to find sensible ways of addressing 
environmental issues and mitigate 
the negative environmental impacts 
linked to its activities. 

Select the correct answer using the 
code given below : 

(a) 1 only 

(!)) 2 only 

(c) Both I and 2 

(d) Neither I nor 2 

www.examrace.com



61. 11{ 20 14 it, '3*1 < 1 ci <l "!lllftur ;;rn '1fcf om 
t<J'<>gdl qf<<it"''11 ~ 3lfclfuli fil'd4t~OI ~' 
~ ~ "ft US $ 24 ~f<'l<i'1 ( M\!<'<i) ~ 
'E'lT ~ fu-c( 'lim 'R ~1\R m w:r 1 ~ 

'lim <li1 /~ 'l<iT ~~ l!fT I~ 7 

1. f?l~~"'<"l ~ mt<ilf "ft, "!lllftur ;;rn 

'1fcf om t<l ;;ga I Wn3ft <f;t ~ >11 fila I <fit 
"'3?R! q;vn 

2. '3'd<lci<l \I'R! ~ f<t4GT "ft ~•ufila WiT. 
it WI ffim <f;t Wn3ft <fit :ff: f<ll fq d 

q;vn 

;f\;) ~ W:t 'F <liT "ll"litrr ·"i'fi\ ~ "'3"ffi: 

~: 

(a) ~1 

(b) ~2 

(c) 1 om 2 zyn 

(d) ;r err 1, ";f m 2 

62. 'llml - it ~ ~ tioitiT ~ orR it Pi '"'1 R1 ful d 

it "ft q;R m/-ft~~ v~? 

1. 'llml om it <'i<m ~- oiR lJffi 01f[q"R 

('l'!;ffia I t I 

2. 11{ 2o14 <tt wmr ~ ~ 'llml 

it <'iq;r <fit~ mfu "'fiB~ ~~T 
• ~ lP1 it t!TI'R 3IT<il I 

;f\;) ~ W:t 'F <liT "ll"litrr """ ~ "'3"ffi: 

~: 

(a) ~ 1 . 

(b) ~2 

(c) I 31'R 2 zyn 

(d) ;r err 1, ;r m 2 

, 

25 

63. ~ ~ orR it Pi'"'lf.l ful Cj it "ft q;R 

m/"ft~~v~? 

I. ~ Gf~-Tf ~it ~ 'l!_-<r.l: 

~T t ;;ft ~ "'@lih i'fiQ<'lld I l!fT 

2. ~ C(i'fi l<'li'fi )[qiR ~ ~mR 'I"T<'ft 
<I 15?4 fa "ll'lTT<'ft t 

3. ~ <tt 314"&i'lf<ll ~ .'1\ ~ 

~ t 3fu: 31fuq;T~l'il '1 fi €'1 I "!lllftur t 
;f\;) ~ W:t 'F "i'fil "ll"litrr """ ~ "'3"ffi: 

~: 

(a)~ 1 

(b) ~ 2 3fto 

(c) 1, 2 31'R 3 

(d) ~I 3fu: 3 

64. FIFA ~ ""'*it Pi'"'lf<:tfuia "i'fi~ 'R fcRm: 
~: .. 

1. <rQ 19o4 it t<11Rla om ~ it 
<!1'4~ d ' Wro- forfu "ft ~· ~ W1 
tl 

2. FIFA 3!'f.t '1"T~ om 31"<1 m3ft 
~ m>:r' 4<1 f'l (01 ~ ·"'1lll<'i\ 'R q;pf 

<WI ~ 1fffi1fh crrn ~ 31'R ~ 
~ "ft ~ ~ 4<if'l<"l -R-afm 
'1 i'fi R I< 'I <fi "l!'lfiCit <fit "i'fil1 "'fiB it <'f'1T 

wrt 1 

;f\;) ~ W:t 'F "i'fil "ll"litrr """ ~ "'3"ffi: 

~: 

. (a) ~I 

(b) ~2 

(c) I 3fu: 2 <ft:it 
(d) ";f m 1, ";f m2 

A - B-ABQB-N-HLO 
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65. Con~ider the following statements about 
SAARC: 

I. The SAARC Secretariat is lqcated 
at Kathmandu. 

2. The Secretariat is headed by the 
Secretary General, who is appointed 
by the Council of Ministers from 
Member States in alphabetical order 
for a three year term. 

3. The Secretary General is assisted 
. by eight Directors on deputation 
from the Member States. 

Select the correct answer using the 
code given below : 

(a) 1 only 

(b) 2 and 3 only 

(c) I, 2 and 3 

(d) I and 3 only 

66. Consider the following statements on 
SAFfA: 

I. SAFTA is a trade liberalisation 
programme among the South­
Eastern countries of Asia. 

2. According to SAFfA, the Ministerial 
Council shall meet at least once 
every year or more often as and 
when considered necessary by the 
Contracting States. 

Select the correct answer using the 
code given below : 

(a) I only 

(b) 2 only 

(c) Both I and 2 

(d) Neither I nor 2 

67. Consider the following statements on 
Bay of Bengal Initiative for Multi­
sectoral Technical and Economic 
Cooperation (BIMSTEC) : 

26 

I. BIMSTEC has seven members -
Bangladesh, Bhutan, India, Myan­
mar, Nepal, Sri Lanka and Thailand. 

2. BIMSTEC provides a link between 
South Asia and South East Asia by 
way of economic cooperation and 
linkages in identified areas of 
cooperation. 

3. BIMSTEC was rechristened as 
BISTEC in the year 2014. 

Select the correct answer· using the 
code given below : 

(a) 1 only 

(b) 2 only 

(c) 1 and 2 only 

(d) 1, 2 and 3 

68. Match List I with List II and select the 
correct answer using the code given 
below the Lists : 

List I 
(Training institute) 

List II 
(Location) 

1. H yderabad A. National Academy 
of Direct Taxes 

2. Nagpur 
B. Rafi Ahmed Kidwai · 

Nationai Postal 
Academy 

C. Sardar Vallabhbhai 
Patel National 
Police Academy 

D. Indira Gandhi 
National Forest 
Academy 

Code: 

A 

(a) 2 

(b) 2 

(c) 3 

(d) 3 

B 

4 

1 

4 

1 

c 
1 

4 

1 

4 

3. Dehradun 

4. Ghaziabad 

D 

3 

3 

2 

2 
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65. SAARC ~ .m: it f.t 1<1 f.1 f<il d" ~ -q<; 

f'f;rn:~: 

1. SAARC 'liT (1~11<'1<l ilil6'iii it 

~~I 

2. 'l\!1(1~1 (1~11<'1<l 'liT m ~ t 
~ f.rgffi; qofSii'llj(il{ ~ WllT 
it ~ ~ -~ ~ cfR 'f1!f <fit aJOfu 
~ ~Qlcftt I • 

3. 'll;l(l~q <fit (1\!l<lC11 ~ ~ ~ 
it~ ~fuf.ty;'ffi 3fTO f.R~rq; Qffi ~ I 

"'R fi:it ..m ~ 'liT ~ Cfl<: ~ ;om 

~: 
(a) ~I 

(b) ~ 2 3ft\ 3 . 

(c) I, 2 3ft\ 3 

(d) ~ I 3ft\ 3 

66. SAFTA ~ .m: it Hl<l Pol Ril a ~ -q<; f'f;rn: 
-~, 

1. SAFTA ~TilT ~ ~lll"it-'fff ~n ~ 
<fR O<lT'lR '3<;1:0ifi(OI 1i I <fsi;'l ~ I 

2. SAFTA~ ~.~-~<fit~ 
~ m<'! <fill ~ <fill "Q,'Ii om: <IT 3!fuq; 

om:, OjG[ '1ft. ~fci<;lilil~l ~ ~ 

trl'lit, ~ I 
. "'R fi:it ..m ~ 'liT ~ Cfl<: ~ ;om 

~: 
(a) ~I 

(b) ~2 

(c) I 3ft\ 2 GRT 
(d) <f m 1, <f m 2 

67. ~m dili'11<'1il ~ ~~~~ 
. <lit ~ :aqSfi'iOI (BIMSTEC) ~ ~ ii 

Pt1<1f.1 Rila ~ -q<; f'f;rn: - : 

27 

1. BIMSTEC ~ tmf ~ ~ -

~~T, Wf'1, 'llm!, ~. i'ttm;r, 
'liT <'i<l;r 3ft\ ~ I 

2. BIMSTEC~~ 31~H>lfRa ~ 
it~~ 3ft\ (1~<'1'Jcll ~1{Ttlllf 

' 
~ ~ "Q,ftm 3ft\ ~~ "Q,ftm ~ 
<~R m 1r<;R 'li\ciT ~ 1 

3. 'f1!f 2014it BIMSTEC<il BISTEC~ 

~ it 'Sf: "'flfl:ffi f<!i<rr 11<n I 

"'R fi:it ~ ~ 'liT ~ Cfl<: ~ ;om 
~:. 

(a) ~I' 

(b) ~2 

(c) ~ I 3ft\ .2 

(d) I, 2 3ft\ 3 

68. ~ I <it ~ II~ Wl Wlf<iid ~ 
3ft\ ~ ~ "'R fi:it ..m ~ 'liT ~ Cfl<: 

~;om~: 

~I ~II 
(m'i!TillVI ~) (01<H<11"1) 

A. m'lr!ff Cfl<: $ 1. ~<;(1<11<; 

~ .2.~ 
B. \'liT~~ 

3. ~~(l'i'"l $mq;~ 

C. tR<;R <I <'<'IIlii I { ~ 4. •IIM<ll<il<; 

$~~-
D.~llltft$ 
q<f~ 

~: 

A B c D 

(a) 2 4 I 3 

(b) 2 I 4 3 

(c) 3 4 2 
(d) 3 I 4 2 

A - 8-ABQB-N-HLO 
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69. ·The Patola weave was traditionally 
done in 

(a) Pochampally and Kanchipuram 

(b) Sufj!t and Patan 

(c) Dacca and Benares 

(d) Benares and Paithan 

70. Which of the following about the 
principles of Panchsheel are correct ? 

I. These are a set of five principles 
governing relations between States 

2. The assumption of Panchsheel was 
that newly independent States after 
decolonization would be able to 
develop a new and more principled 
approach to international relations 

3. The first formal codification in 
treaty form was done in an agree­
ment between China and India 

Select the correct answer using the 
code given below : 

(a) I and 2 only 

(b) 2 and 3 only 

(c) I, 2 and 3 

(d) I and 3 only 

71. Consider the following statements : 

I. Government of India has recently 
upgraded the National Industrial 
Classification from NIC-1987 to 
NIC-2008. 

B-ABQB-N-HLO - A 28 

2. NIC is an essential statistical 
standard for developing and 
maintaining comparable database 
according to economic activities. 

Which of the statements given above 
is/are correct? 

(a) I only 

(b) 2 only 

(c) .Both I and 2 

(d) Neither I nor 2 

72. V M Dandekar and Nee! Kanth Rath 
were well-known for their 

(a) study on the spread of the Green 
Revolution 

(b) advocacy of nuclear power 

(c) advocacy of liberalization 

(d) study on poverty in India 

73. Marco Polo's trip to India (1271 AD) 
earned much fame in Europe on account 
of 

· (a) his having discovered a safe route 
to India 

(b) his having established amicable 
relations with many Kings of India 

(c) his account of commercial, religious 
and social conditions in the East 

(d) All of the above 
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69. 1:Jilm ~ W'RI'Id ~ ~ ~ 'R <fit. 
;;miT m ? 

(b) ~ 3i'l<: ~ 

(c) ~ 3i'l<: ~ 

(d) <AlW 3i'l<: ~ 

10. "<Nm ii; R101::i<fi ii; ~ 1t Pl~<tf<>IRila 1t ~ 
'l>'R~~t? 

1. <rt: M ii; ofR timit <it Pl<i Rla <liB 
<rrR '!f.q R1 'l::i <fi q;r 1:1';t'iiil/1 ~ 

2. ~ffi:f <fit~ m f<n ;;jqf.l~~R ii; 
~ il;~ ~ ~ ~ 3id«lo?l<l 
~ il; m 1:% ~ 3i'l<: 3lfuq; Rl,i<O 
~fe<hlo1 <it Pl<t1Rla <liB# m ~ 

3. -mu ii; ~ 1t >Pm mq"flf{"' 

fi ~d 1'11(01 ""f1;r 3i'l<: 'l1mf il; <fR ~ 
<!im#~ 

~M..m~q;rm<R~~ 

~: 

(a) ~ I 3i'l<: 2 

(b) ~ 2 3i'l<: 3 

(c) I, 2 3i'l<:-3 

(d) ~ I 3ffi: 3 

71. H~<tf<>IR!Ja ~ ""fcRR ~:. 

I. 'l1mf <W!lR it m-<'1 ~ # \1$ 
3f!<ii'lfi'l'll q<ff<li<ol <it NIC-1987 ~ 

NIC-2008#~~~ I 

29 

' 
2. NIC ~ <lfdf<lfb41 il; 311m<: 'R 

p slli~fl <it M<t1Rla 3i'l<: ~Ill<! 
~ q;r 1:% 3f1Gf~ f!i!¥14\l<l 1Wi'ii 

tl 

.#~'l>'Rm/~~~~/t? 

(a) ~I 

(b) ~2 

(c) I 3ffi: 2 c:f.TI 

(d) "'1 eft I, "'1 ~ 2 

72. <ft. ~. ~ 3i'l<: <fl<;r <i;o ~ 3ltR ~ 
q;m il; ~ tf>l R1' it ? 

73. 1IT<if ~ <fit 'l1mf <il"!T ( 12 71 AD) it ~ 
# ~ "'liR"T ~ ~ ~ mtf <fit ? 

(a) ~ i::RT 'l1mf il; ~ ¢'Ill<! liTlf <fit 
m <liB il; fu1:t 

Cb) ~ i::RT 'l1mf ii; m u;;rrm ii; <Wf 

~ m t<ll ~<~a '<tlf.l ii; for:( 

(c) ~ 'f-lt ~~it# Olllqlftoh, ~ 3i'l<: 
@it Fit"' 3f'Wn3i't il; ~ il; for:( 

(d) .tflil 
A - B-ABQB-N-HLO 
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74. Consider the following statements about 
the recently concluded ·field exercise 
Sarvada Vzjay : 

1. It was a joint exercise of Indian 
Army, Navy and Air Force. 

2. The overall aim of the exercise was 
to practise conventional cross-border 
thrusts into enemy territory. 

Which of the statements given above 
is/are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1. and 2 

(d) Neither 1 nor 2 

75. Which one among the following is a 
state-of-the-art acoustic sensor-based 
.target training system developed by the 
CSIR for shooters of the Indian Army ? 

(a) SHANKH 

(b) DHVANI 

(c) NISHAN 

(d) PRAHAR 

76. Which of the statements given below 
about the Mughal rule in India is false ? 

(a) Peasant communities were a united 
and homogeneous group 

(b) There was an abundance of food 
gram 

(c) The State encourag~d those crops 
that brought in more revenue 

(d) Most regions produced two crops 
in a year 
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77. The Ghadar party, formed in the USA, 
was determined to start a revolt in India. 
Which among the following provinces 
did the party choose to begin its armed 
revolt? 

(a) Punjab . 

(b) Bengal 

(c) United Provinces 

(d) Bihar 

78. The ruins of the Vijayanagara at Hampi 
were brought to light in 1800 by 

(a) Colonel Colin Mackenzie 

(b) Sir John Shore 

(c) Andrew Fraser 

(d) John Marshall 

79. Consider the following statements 
about colonial economy of Vietnam 
(Indo-China) : 

1. The colonial economy in Vietnam 
was primarily based on rice 
cultivation and rubber plantations. 

2. All the rubber plantations in 
Vietnam were owned and controlled 
by a small Vietnamese elite. 

3. Indentured Vietnamese· labour was 
widely used in the rubber planta­
tions. 

4. Indentured labourers worked on the 
basis of contracts that did not 
specify any rights of labourers but 
gave immense power · to the 
employers. 

Which of the statements given above 
is/are correct? 

(a) 1, 3 and 4 

(b) 1 and 4 only 

(c) 2 and 3 

(d) 1 only 
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74. m<'f"ititW!?r~~ awmr 'wfGT~' 
~ ~ it Pi 101 f<'l RiA C1 ~ ""' fcr;m: 

~: 

1. ~ ~ ~WIT, ;ftWn 3itcq-~ WIT 

q;r~ awmr ~ 1 

2. ~ awmr q;r wrn or~ ~~ ~ ~ 
~ 4{1Xl{llj(1 ~ 'ffi 3@1SjOfj qiT 

<tl I 41'f.4 C1 'liVlT t I 

··it~CfiR~~~v~? 

(a) ~ l 

(b) ·~2 

(c) 1 3fu: 2 GRT 
. (d) Of eft 1, Of "it 2 

75. HI01fi:1fulctitq,t.ym, CSIR~~WIT 
~ ~!¢ ~ ~ F<l<t>Rlct m-m-fc<-3!Tt . 
Eili Pi<t>-~ ;imnfur or~ -mr!ffOT WlTT<'ft 
t? 

(a) ~ffi (SHANKH) 

(b) E4f.r (DHVANI) 

(c) fum (NISHAN) 

(d) ~(PRAHAR). 

76. 'llKc! it~ ~rnA'~ orR it ;{tit ~ ~ 
it~C!iRm~~t? 

(a) ¥'~' ~ ~ ~ 3l'R tl"'lffi<l 

~>{ 
• 

(b) <:ill'<li'>il <lit~~ 

(c) ~ ~ '301 ~<it sil<"fli~'1 fc<m 
~ ~ ;;ft 3!ftJq, \T"'"fC[ O!Rft ~ 

(d) ~ ~$it it 'l1f it G't .~ q;r 

'3«11~'1 -&n ~ 

31 

77. USA it .,.n 1JG\ '11if 'llKc! it ~ 3fR'i:r 
m ~ ~ <fctti<t>o<l ·~ 1 HI01f<1fulct it~ 
m ~~T <it '11if i't 3!'t'1T <mf.T ~ >rR'!l 
m~~'¥1" 7 

(a)~ 

(b)·~ 

(c)·~m 
(d)~ 

78. ~ it M"'<l'1'1< ~ 'll'JmN ~ ~ 
1800 it Wlif~T it om:( ~ 7 

(a) 'll'fu ~ ~ 
(b) m: ;;rR ~m: 

(c)~~ 
(d) ;;rt.r +mfor 

79. f<l<lct'11SJ (~-"'l•f) <lit ;ffiqp,~~r<ll ~­

C<lct t<li ~ · ~ it Pi 101 f<:1 r(!j ct ~ ""' 

fcr;m:~: 
1. f<l<lct'11SJ it ;ffiqPi<l~T<ti 31<404ctt<il 

~: m'1" <fit miT WIT~~~ 
1R ;imnfur ~ I 

2. f<l<lct'11SJ ~ lflft ~ .omW~ ~ m?: 
Mll C1 '11 '1 I 31111l "11 <'4 q<f ~ <<II ill cq WIT 

H<i"'IOI it >t I 

3. \ll<I<<St<l:: M<lct'11<fl ~ q;r ~ 
~ it ~ l';"l ~ ~ fo!;m 

1!<IT ~ I 
4. \11{1{% 'lT1lr<tl, ~3ft ~ 3!Tm\ 

""' 'lll'f ~ >t mit ~ ~ ~ 
·m 3!fu<rn f<l Pi~ or@ ~ ~ >t 
~ Sllkl't!l <it~~~ 
~>{I 

4m ~ ...m q;~ it~ CfiR m;~ ~ 
v~7 
(a) 1, 3 3l'R 4 

(b) ~ 1 3fu: 4 

(c) 2 3l'R 3 

(d) ~ 1 

A - B-ABQB-N-HLO 
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80. Which of the four linguistic regions in 
South India remained unaffected by the 
Non-Cooperation Movement (1921-22) ? 

(a) Kerala 

(b) Tarriil Nadu 

(c) Andhra Pradesh 

(d) Kama taka 

81. Which of the fo_llowing statements 
about the penetration of English into 
Bengal is I are correct ? 

L Job Charnock arrived in Sutanati in 
August 1690 and laid the foundation 
of Calcutta which later became the 
heart of the British Indian Empire. 

2. The French East India Company 
built a fort near the Fort William in 
Calcutta. 

Select the correct answer usmg the 
code given below : 

(a) I only 

(b) 2 only 

(c) Both I and 2 

(d) Neither 1 nor 2 

-82. Under the forceful thrust of British rule, 
a rapid transformation of the Iqdian 
economy took place. In this context, 
which ofthe following statements is/ are 
correct? 

L Indian economy was transformed 
into a colonial economy in the 19th 
century whose· structure was deter­
mined by Britain's fast developing 
industrial economy. 
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2. The influx of cheap Indian products 
into England gave a great blow to 
English textile industries. 

3. The 19th century saw the collapse 
of the traditional Indian village 
economy and fresh economic 
alignment along commercial lines. 

"Select the correct answer using the 
code given below : 

(a) I and 3 

(b) 1 only 

(c) 2 only 

(d) 1 and 2 

83. Wliich of the following statements 
is/are correct? 

L Early Buddhist literature is generally 
composed of the canonical text 

2. The Buddhist schools classify their 
canonical literature as only the 
Pi takas. 

Select the correct answer using the 
. code given below·: 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither I nor 2 

84. Manipur clinched the 20th Senior 
National Women's Footb~l Champion­
ships title 2014 bydefeating. 

(a) Assam 

(b) Odisha 

(c) West Bengal 

(d) · Kcrala 
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80. Gf1;fuT '+lmr it "fR mliT{ ~ it -H ~ m, 
316\341•1 ~ (1921-22) # 31~>tlf<ld 

WI? 

(a) itm 

(b) aill<111§ 

(c) 31iu "l$r 

(d) <'fl'1fc:<'fl 

81. ~ <€! <i<m:r it t1o it ~ it f.tA f.l fct a 

~it#~m/'H~"V~? 

L ;:;rfof 'Rfq; 31lffil 1690 it \f'11'1cil it 
311-in ~ ~ 'h<Wd I <lit t<ll q '11 <lit 
;;ftom;it~T >tRci'i4 61!li"4 <nrifR: 
GRT I 

2. )f)ifi1m ~ ~ ~ .=r 'h<1'h'dl it 
':lilt Pol f.l4t1 it ~ '% ~ q;r ~ 
f<rnT I 

~ ~- ~ ~ q;r ~ '11\ ~ ~ 
~: 

(a) .iteR I 

(b) iteR 2 

(c) I 31'1<: 2 zyn 
(d) '1" eft 1, '1" m 2 

82. f.!fur ~Tffi'1" it m1m G<I1Cf it ~ >1 Rdl4 
314"0!l'1t<ll q;r i'\;;ft # €'q i'"d{Uj g3ll I ~ 

~it f.tAf.lRsa ~it#~ m;# 

~V~? 

I. 19<ff ~~it >ll<dl4 31<fe>qqt<lj '% 
af)qf.t~~rq; ~-it €'qlraf{a "it 
lT41' ~ ~ ~ <€! -a;;r 1Jfcr # 
Pol q; rna ~ an..:i'lll1 q; 3T'foq q t<ll ~ 
f.rtfrfupft I 

33 

2. ~it~ lil<dl4 ~ <€! ~ ;'f 
. ~ <ror ~ 'li't '%om·~ 

q~-q141 I 

3. 19<ff ~mo<it it ql("if{q; >ll<dl4 

"lflllluT 314" oq q t<ll q;r '«1'1" ~3fT ~ 

. <lii'Oi~'h ~it ~ ~ ~ 
oqqt<ll oRt I 

;fR ~ ~ ~ q;r~ '11\"~ ~ 
-~: 
(a) I 31'1<: 3 

(b) iteR I 

(c) iteR 2 

(d) I 3ft< 2 

83. HAf.lRila' it # ~ m;'H. ~ ~ 
-v~? 

I. >lli:f11q; ~ 61~<'4 >IT4: ~ %5 # 
<flffi% I 

2. ~ ~~ 31'l>t ~ ~ q;r 

<1•ff<w1 iteR 1W!i\ it <?'1" it 'hcit ~ I 

~~~~<nl~'li\~;.M 
~: 
(a) iteR I 

(b) iteR 2 

(c) I 31'1<: 2 zyiT 

(d) '1" eft 1, '1" m 2 

84. ~ >t 20 <if <:1lf.t<:t< ~ ~ :pc:<>ii<1 
-ijww1~f'1 C::i~R:<1 2014, m q;'t '\i<T '11\ 

f.lf'~<€1? 

(a) 3lWf 

(b) 3Ttmrr 
(c) ~<i<m:f 

(d) itm 
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Directions : 

The following 07 (Seven) items consist of two 
· statements, Statement I and Statement II. You 

ate to examine these two statements carefully 
and select the answers to these items using 
the code given below : 

Code: 

(a) Both the statements are indi~dually 
true and Statement II is the correct 
explanation of Statement I 

(b) Both the statements are individually 
true but Statement II is not the 
correct explanation of Statement I 

(c) Statement I is true but Statement II 
is false 

(d) Statement I is false but Statement II 
is true 

85. Statement I The twelfth century 
witnessed the emergence 
of a new movement in 
Karnataka Jed by a Brah­
mana named Basavanna. 

Statement II The Lingayats wor­
shipped Shiva in his 
manifestation as a Linga. 

86. Statement I Ram Mohan Roy in his 
famous work Gift to 
Monotheism put forward 

' 
., 

weighty arguments 
against belief in many 
Gods and for the 
worship of a single God. 

Statement II Ram Mohan Roy in his 
Precepts of Jesus tried 
to separate the moral 
and philosophic message 
of the New Testament. 
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87. Statement I The Bethune School, 
founded in Calcutta in 
1849 was the first fiuit 
of the powerful move­
ment for women's 
education that arose in . 
the 1840s and 1850s. 

Statement II The first step in giving 
modern education to 
girls was undertaken by 
Vidyasagar in 1800. 

88. Statement I The annexation of 
Awadh by Lord 
Dalhousie m 1856 
adversely affected the 
financial conditions of 
the sepoys. 

Stateme~t II The sepoys had to pay 
higher taxes on the land 
where their family 
members stayed m 
Awadh .. 

89. Statement I During indigestion, Milk 
of Magnesia is taken to 

· get rid of pain in the 
stomach. 

Statement II Milk of Magnesia is a 
base and it neutralizes 
the excess acid in the 
stomach. 

90. Statement I · : A tsunami is a series of 
water waves caused by 
the displacement of a 
large volume of water of 
an Ocean. 

Statement II A tsunami can be 
generated when thrust 
faults associated with 
convergent or destructive 
plate boundaries move 
abruptly. 
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f.tAf<1Ril<~ 01 (m<r) w.n~n 1l ~ ~ ~. 
~ I 3ft<: ~ II I ~ ~ Gf.i'i ~ 'liT 

~ '!D~ ~~3ft<: m M .m <F 
'iiT wWr "iii\ ~~it ~~¥IT~ I 

<fe: 

(a) Gf.i'i ~ 3TWT-3TWT -~ ~ 3ft<: 
'fii'R II, ~ I 'liT ~ tGIIC'iif><OI ~ 

• (b) G'A'i ~ 3TWT-3TWT ~ ~ ~ 
~ II, ~ I 'liT . ~ tGII(.lif>{OI 

~~ 

(c) 'fii'R I~ t ~~II 3fffi'!f ~ 

(d) ~ I 3fffi'!f t ~ "1fii'R II~ ~ 

85. <iii'R I : 011<\i<if ~~ ll if>'1fi':if> il 
"'iM '>II 'fTl1cl; ~ ~ ~ 
1l 1:% ~ 3w<; I <1'1 <li1 ';3'Gll 

~I 

"1fii'R II : F.i•u~a. ftFf<li'l <1416'11, ~ 
fu<r~it~ 3111'1l+if'l -ij ~ 

¥tl 

86. <iii'R I : U'l.~ U'l >t m • 
~ 1Tr'R ~ +tl •ll <fl 'i¥1 -ij 

3f.t4>T "{l!'ffi ll f1l ~'l Itt ~ forotr 
-ij ~ 1:% ~<lit '341<:1'11 ~ 

'11\l il >rnmntft a<f> ~ I 

~ II , uq ~ U'l >t m lfli'l«:~ 

.3fl'\li 1iftmf -ij '"i ltc:lil•i': ~ 
~ 3ft<: ~ff.tq; ~T qit . 

'Pfil> ~ 'liT Wffil' m,. I 

35 

87. ~ I . if>iilif>tll il Cf1Sf 1849ll t<IIRIC1 

~~ '¥~· 1840 3ft<: 1850~ 
<:~m ~ ~ .mt ftT!\lT ~ 
~ B~Tm ~" 'liT Wllf 

4 f1:011'"l 1!!T I 

<iii'R II :. "'lf<:i<fllaft qit 311lt{Hif> ftT!\lT 
~ ~ <m'IT ~ \'liG"f 

f1l '1J I fll'l< 'f CfiSf 1800 ll '30I1!!T 

<!TI 

88. ~ I : Ol'fi ~<1~'!f1 ~ 1856 ll ~ 
111:( 3ICIU ~ fl'"llil<1'1 ~ 

'fliilt<1~4 ff141fuzi1 <lit ~ 
31<W11 s;tSI+il f1l C1 ~ I 

<iii'R II ff14 1fuzil qit 3ICIU ll >m ~ . 

"<~~ 4fl:'ll<"1'1 WI ¥t, 
3ft<: ~ "iii\ ~ ~ ¥t I 

89. 'fii'R I : 3l'R ~ ~ ~ 'fA it?:~ 
~ H'li<OI ~ ~ ~ 3ITg; 

~T<IT 'liT ~ ~ ;;mrr 

~I 

<iii'R II : ~ m ~m 1:% 1\lT{q; 

( ~) ~ 3ft<: ~ it?: it 31+<'! <lit 
~ qit H"'l+il<1'l "iii\ ~ 

~I 

90. ~ I . : wwft, '"l\ilfll'l< ~ "~<'! ~ 1:% 
~ 4fl:'"ll01 ~ f<lf<m'1 ~ 

'fliilt<1~4 ~ ~ <n<'ft. 
"~<'~-cR<f "[&m ~ I 

~ II : wwiT ;.m 3I<Wil ll ~ ~ 
WliCiT ~ "101 31 fl:l fll{if> ~ 
f<Fmft~~~~~ 
mT 3fin'fif> ti"l f<1<1 ~;;nit~ I 
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91. Statement I The Atacama IS the 
driest among the deserts 
of the World. 

Statement II : The aridity of the 
Atacama is explained by 
its location between two 
mountain chains of suffi­
cient height to prevent 
moisture advection from 
either the Pacific or the 
Atlantic Ocean. 

92. Which one among the following pairs 
is not correctly matched ? 

(a) When total product 
increases at an 
increasing rate 

(b) When total product 
increases at a 
diminishing rate . 

(c) When total product 
reaches its 
maximum 

(d) When total product 
begins to decline 

Marginal 
product 
increases 

Marginal 
product 
declines 

Marginal 
product 
becomes 
zero 

Marginal 
product 
becomes 
positive 

93. The way total output changes due to 
change in all inputs in same proportion is 
known as law of 

(a) Returns to scale 

(b) Diminishing returns 

(c) Increasing returns 

(d) Constant returns 
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94. Which of the. following statements 
is/are true? 

I. If increase in demand and supply 
are of equal magnitude, the price 
will remain unchanged, but the 
equilibrium quantity will increase. 

2. If increase in demand is of greater 
magnitude than increase in supply, 
both equilibrium price and equili­
brium quantity will increase. 

3. If increase in supply is of greater 
. magnitude than increase in demand, 

equilibrium price will fall bvt 
equilibrium quantity will increase. 

Select the correct answer using the 
code given below : 

(a) 1 only 

(b) 1 and 2 only 

(c) 2 and 3 only 

(d) 1, 2 and 3 

95. A market in which there are large 
numbers of sellers .of a particular 
product, but each seller sells somewhat 
differentiated but close products is 
termed as 

(a) Perfect competition 

(b) Monopoly 

(c) Monopolistic competition 

(d) Oligopoly 

96. The value of all final goods and services 
produced by the normal residents of a 
country and their property, whether 
operating within the domestic territory of 
the country or outside in a year IS 

termed as 

(a) Gross National Income 

(b) Net National Income 

(c) Gross Domestic Product 

(d) .Net Domestic Product 
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91. ~ I : a~lcl'llllil ~iii ll~t<l<'ll if 
~ :;rlbq; Wli ~ I 

"'ll<!R II : a! lcl'lll+i I clit ~ 'lit, <if 
"'l"l1fu ~ '1cR! ~ail iii 
11Uf ~ clit ~ ~. 
;;it mTRl' ~ ::!IG<'IIR:'Il 

11 \! I fi I • I< ~ 3ITifuT iii a! f1:l 'I \;"' 
'lit ~ ~' fil1 ~ 14 I ;;n lf'll<fi 

~I 

92. Pi'""'f.JRila if. ~ ~ m ~ ~ ~ 
tfi~Ci~~? 

(a) ~¥!~ mm-a~ 
~~~ ~~ 
~~ 

(b) ~¥!~ mm-a~ 
01fll11"1 ~ <rCcfT ~ 
~~~ 

(c) ~¥!~ mm-a~ 
~ 31 fu'!lCili ~Fm;;mrr~ 
~+;;mrr~ 

(d) ~¥!~ mm-a~ 
'liT w« 3lR'sf ti"' lcli'll m 
m ;;mrr ~ ;;mrr ~ 

93. trlft 3!l1RiT it ~ m ~ it qf{qcf"' 
~ iii 'li<1«~\¥q ¥~ ~ # m ~ 
q ~'<<~.;"' mor t ~ 'l>t.'f ~ f.mlf iii ~ it 
~t? 

(a) ~ 'liT ~ RNi<'l 

(b) 01Mi"' ~fu'li<1 

(c) q~ ~fu'b<'l 

(d) Wr\ ~fu'li<1 
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94. Pi'""'f.JR!Ja if ~ ~ m/~ ~ ~ 
tit? 

J. ~ 1il1T 3ffi 1f<f "if ~ WfR qf{4jUj "if 
m, <IT ~ 3jqf<qfcfu wn, 'fq! 

~ lfl?IT it~ mm 1 

2. ~ llT'l if ~. 1f<f if ~ ~ :;rlbq; 
qf<11101 it mm, <IT~~ i1>lT 

• lfl?IT wrr it~ mm 1 

3. ~ 1f<f if ~. llT'l if ~ ~ :;rlbq; 
qf<liiUI if mm, <it~~ ilWft 
'fq! • lfl?IT it~ mm 1 

~ ~ . ..m <gc 'liT m <g -m?t ~ 
~: 
(a) ~I 

(b) ~ I 3ffi 2 

(c) ~ 2 3ft\ 3 

(d) I, 2 3ffi 3 

95. ~ <il'irR, ~ M f<f~ ~ iii 
~~mitt,~~~ 

AAcr~'!q!~-~~~t. 
'f41 'll\;<'IICI I t ? 

(a) ~~ 
(b) C('lll fu q C'll 

(c) ~~ 
(d) ::il<"lifu'lll< 

96. ~<rtf if M ~~T iii el111i4 Pi<~lrn<i'l 3i't<: 
~ Wlfu ~ 'dNif<;CI trlft 3Rl! ~ail 

3i't<: ~iii~ 'lit' ~ ~ ~ (1"'4&1"1 iii 
'>ft<R q~lf.JCI ~<:iT~. 'f41 ~ t ? 

(a) tr'll<! ~ 3IT4 

(b) f.!<R ~ 3IT4 

(c) tr'll<! ~ ~ 

(d) f.!<R~~ 
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97. Which of the following statements 
are correct ? 

1. . When marginal revenue is positive, 
total revenue increases with 
increase in output. 

2. When marginal revenue is zero, 
total revenue is maximum. 

3. When marginal revenue becomes 
negative, total revertue falls with 
increase in output. .. 

Select the correct answer using the 
code given below : 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

9.8. National product at factor cost is equal 
to 

(a) Domestic product + Net factor 
income from abroad 

(b) National product at market prices -
indirect taxes + subsidies 

(c) Gross domestic product - deprecia­
tion 

(d) National product at market prices + 
Indirect taxes + subsidies 

99. Which of the following theories form the. 
basis of international trade ? 

1. Absolute cost difference 

2. Comparative cost difference 

3. Opportunity cost 
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Select the correct answer usmg the 
code given below : 

(a) 1 only 

(b) 2 only 

(c) I and 2 only 

(d) 1, 2 and 3 · 

100. Which one among the following is not a 
source of tax revenue for the Central 
Government in India ? 

(a) Income tax 

(b) Customs duties 

(c) Service tax 

(d) Motor Vehicle tax 

101. Which of the. following does not form 
part of current account of Balance of 
Payments? 

(a) Export and import of goods 

(b) Export and import of services 

(c) Income receipts and payments 

(d) Capital receiptS and payments 

102. Novak Djokovic, who· won the Men's 
Wimbledon Tennis Open Tournament 
2014, is from 

(a) Serbia 

(b) Spain • 

(c) Switzerland 

· (d) England 
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97. fii1>1i<>1Riln ~~'fiR~~~~ ? 

1. iii<! mm-a ~ !1'1 ~<·'1'1i mw t eft 
F~. f.rfu ~~~WHIT~ 
~tl 

2. iii<! mm-a ~ ~Fl mw t eft F 
~~mwt1 

3. iii<! mm-a ~ '~~"II('+! q; ~ "'TdT t · 
eftF~. f.rfu~~~~-~ 
«ill mw t , 

~ ~ -.m 'F q:;r ~ 'li<: ~ ~ 
~: 

(a) ~I 3lR 2 

'(b) ~ 2 3lR i 
(c) ~I 3ffi 3 

(d) I, 2 3ffi 3 

9s. 3q1<;1'1 <'IJlR[ 'R u$ ~ -mr ~ <RI<R 

mwt? 
(a) ~ ~ + ~n ll f.ffir '3q1c;1'1 

3il'r 

(b) <l1'ilR ~ 'R ~ ~ - 31!'1<"<1111 

'li<: +~ 

(c) ~ ~ ~ 1<'4~1~ 

(d) <ll'i!R~'R~~+~ 
'li<: +~ 

99. fii1>1!<>1Riln ~ 'litrr m;~ ~ 3in«l"?,lli 
Olll'tR q:;r ~~ ~ <R(fT ;Of'ffi v~ ? 

1. f.R:it!ll <'IJlR[ 3iCR 

3. 3ICRR <'IJlR[ 
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(a) ~ I 

(b) ~2 

(c) ~I 3lR 2 

(d) I, 2 3ffi 3 

100. fii1>1R>1Riln ~~'fiRm~. 'l1RC! ~ ~ 
m<m: ~ 'li<: ~ q:;r m -.rtf t 7 

. (a) 3il'r 'li<: 

(b) tWnW<1i 

(c) ~ 'li<: 

(d) liW: m'f 'li<: 

101. fii1>1R!Riln ~ ~ 'litrr m, ~-~ ~ 
'iffii ~ q:;r ~ ;rtf t ? 

(a) ~m q:;r f.rllfu 3lR 3n<mi 

(b) ~m q:;r f.rllfu 3lR 3n<mi 

(c) 3il'r miB<li 3lR ~ 

(d) ~ miB<li 3lR ~ 

. 102. ~ ,,j'jq,'if<l"', flr;f.t ~ <€t MGI<1<l'1 

ZPrm ~ ~ 2o14 ;;fuff, -mr ~~ ~ 
t? 
(a) w.f<rr 

(b) m 

(d)~ 
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103. The technique of inducing ram from 
cloud is called 

(a) Cloud computing 

(b)_ Cloud control 

(c) Cloud engineering 

(d) Cloud seeding 

104. Match List I with List II and select the 
correct answer using the code given 
below the Lists : 

List I 
(Founder/ 

First 
Director) 

A.Vlkram 
Sarabhai 

B. Homi J 
Bhabha 

C.C N R 
Rao 

D.P C 
Mahalanobis 

Code: 

A B 

(a) 4 3 

(b) 4 2 

(c) . I 3 

(d) I 2 

List II 
(Premier 
Research 
Institute) 

I. Indian Statistical 
Institute 

2. Jawaharlal Nehru 
Centre for 
Advanced Scientific 
Research 

3. Tata Institute 
of Fundamental 
Research 

4. Physical Research 
Laboratory 

c D 

2 I 

3 I 

2 4 

3 4 

B-ABQB-N-HLO - A 40 

105. Which of the following statements about 
Marrakesh Treaty is/ are correct? 

I. The main goal of the treaty is to 
create a set of mandatory limita­
tions and exceptions for the benefits 
of the blind and visually impaired. 

2. India has ratified the treaty. 

3. The treaty has come into force 
from July 2014. 

Select the correct answer usmg the 
code given below : 

(a) I only 

(b) 1 and 2 only 

(c) 2 only 

(d) I, 2 and 3 

106. Consider the following statements about 
GAGAN (GPS Aided Geo Augmented 
Navigation) system : 

I. It offers free enhanced satellite 
navigation signals over India which 
are ·ten times more precise than 
GPS. 

2. It was developed jointly by. ISRO 
and NASA.· 

Which o( the statements given above 
is/ are correct ? 

(a) I only 

(b) 2 only 

(c) Both I and 2 

(d) Neither I nor 2 

107. Andaman and Nicobar Command is 

(a) a Command of ·the Indian Army 

(b) a regional Command of the Indian 
Coast Guard 

(c). an integrated theater Command 
operating directly un?er the Chiefs 
of Staff Committee 

(d) a joint Command of the Indian 
Navy and the Indian Air Force 
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1oJ. 1tm ~ erm ~ ~ <tt d'h'1i'h ~ w 
~t? 

(a) lhr q~Cfi<1<1 

(b) il'f Pi lj ?.1 Oj 

(c) lhr ~~Pill(l 

(d) il<r ~ 

104. ~ I <liT ~ II~ ~ W!fua ~ 
3ft\ ~ ~ ~ ~ l'!it <F 'liT m "Ch<: 

~~~: 

~I ~II 
(.;.,<M<t>/ (~ 

wm ~ 
f.t~~) mr.r) 

A.~ fii<i>ii{ I. 11 i«i'lll ~ i\Wl<il 

B.~>it>!l'ln 
~ 

c. m 1:\'f 3TR m 
2. "1'1 11>\<11<1 ~ 

~ ~'111Pi'h 
'. ~~ o. <IT m ~'~~>1<1'1<ilfl 

3. CRT ll'lfuq; 

~~ 

4. ~~m;, 

~Ti<1T 

'F: 

A B c D 

(a) 4 3 2 1 

(b) 4 2 3 I 

(c) I 3 2 4 

(d) I 2· 3 4 
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tos. ~~T mq ~om:# Pi+<1fufula # ~ ~ 
mj~q;~~v~? 

L W Wt 'liT~ ~:r:r ~~ ~<il .>fu: ~ 
~ O!lfui<il ~ '(11'1{ ~ ~ 3!f.!<n<f 
mmm 3ft\ 31qq1Gl 'liT *'~""1ll <-m) 
Of'1T'1T t I 

2. >m<l ~ w mq 'liT 31:!fi 1'1 { ~ "Ch<: 

~tl 
3. 'l!Qmq'¥fT{2014~~t)1T{t I 
~ ~ l'!it <F 'liT m "Ch<: ~ ~ 
~: 
(a) ~ 1 

(b) ~ 1 3ft\ 2 

(c) ~2 

(d) 1, 2 3ft\ 3 

106. GAGAN (GPS ~ \-ti"Ci'Mr +111f­
~R) 'II"''R'it ~ om:# Pi+<1Rlf€ia <m'1l 
'Rf<RR~: 

I. 'ljQ >m<l #, 1jm & ~ +n1f­
~~R ~ ~ Cli{ffi' t ;;jr GPS 

~ W 'TfT 3!fuq; 'lfu~ ~ I 

2. ~ISRO :JffiNASA ~ ~ ~ ~ 
f<lq;fua f<mT ~ 1 

~if~q,'Rm;~~~v~? 
(a) ~1 

(b) ~2 

(c) 1 3ft\ 2 G'Rt 
(d) "f <it 1, "f ~ 2 

107. ~3ft\ Pi'hl"li( 'ChllR 

(a) 11 Rffill ~ <t't 1:% "CfiJ1R t 
(b) 11Rffill '(I'R1J'Ii <ft 1:% l$fW "CfiJlR•t 
c c) mit -?Rw:rm <tt ~ ~ 31ti'A 

~"1 I f<1 d ((4il<fd ~~ "CfiJ1R t 
• 

(d) 111<ffill ~ 3ft\ •wffill <11gfl'll <t't 
~ 'ChllR t 

A - B-ABQB-N-HLO 
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His. Arihant is a 

(a) Multi barrel rocket launcher 

(b) Airborne Early Warning and Control 
System 

(c) Unmanned Combat Aerial Vehicle 

(d) Nuclear-powered ballistic missile 
submarine 

109. Which one among the following is not a 
Command of the Indian Army ? 

(a) South-Western Connnand 

(b) South-Eastern Connnand 

(c) Army Training Connnand 

(d) Centra.! Connnand 

110. Master Chief Petty Officer IS a rank 
in the 

(a) Indian Navy 

(b) Military Engineering Service 

. (c) The Army Aviation Corps 

(d) Indian Air Force 

111. 'Project Seabird' is connected with 

(a) Greenfield naval base at West Coast 
of India 

(b) Anti pirate operation at Somalia 

(c) Indian Navy's island development 
project 

(d) . Shipyard in Kutch district, Gujarat 

112. Consider the following statements about 
world's first Modern Slavery Bill, 
published in June 2014 by the British 
House of Commons : 

1. This is the first of its kind bill in 
Europe which specifically addresses 
slavecy and trafficking in the 21st 
centucy. 

2. The Bill fixes the maximum 
sentence available for the most 
serious offenders up to 14 years. 

8-ABQB-N-HLO - A 
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Which of the statements giVen above 
is/ are correct ? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

. 113. Operation Kachhapa is an NGO 
initiative for the conservation of 

(a) Hawks bill turtles 

(b) Olive Ridley sea turtles 

(c) Green turtles 

(d) Leatherback turtles 

114. Consider the following statements about 
'Project Mausam' : 

1. The Project was launched in June 
2014 by the Ministry of External . 
Affairs. 

2. At the macro level, the project aims 
to re-connect and re-establish com­
munications between countries of 
the Indian Ocean world, which 
would lead to an enhanced under­
standing of cultural values and 
concerns; while at the micro level, 
the focus is on understanding 
national cultures in their regional 
maritime milieu. 

Which of the statements given above 
is/ are correct ? 

(a) I only 

(b) 2 only. 

(c) Both 1 and 2 

(d) Neither 1 nor 2 
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108. ~'!liT~ ? 

(a)~~~~. 

(b) "'¥'~a~ -<~a'".n 3ft< f.fl:r.;ror wmm 
(c) 11 I '1 Cl i!i1'1 ~ <iTl!Cf 'l1l'f 

(d) .,,fllcf;)q ~,fffi1ffi "lfm ci.,3GOI1 

109. f.i'"'1f01f@a it~ ct.'\;nft ~. >1Rctl4 Wfr "cf;\ 

CfiJ!Ff •r~U ? 
(a) Gf~-~CfiJ!Ff 

(b) Gf~-~CfiJ!Ff 

<c) wn -m1&111T CfiJ!Ff 

(d) m<r 'fil11ii 

110. ~ m 'tit 31if?tie< Pi'"'11'01f@a it ~ 
~~~~? 
(a) >1Rctl4 <i\Wtr 
(b) ~ ~')f.iq(l 00 
(c) 3Tlli'f ~j';f ciR 
(d) iji((l'jq "1!!}1'11 

111. ·~_Wit'~~~ tiaifua t ? 

(a) 'l1mf ~ qR'-<tJil ere: fi'm iwli'l% 
;f\Wtr~ 

(b) m111f.141 it '*""~-mit 31'i<R~R 
(c) >1 1((1'14 <i\Wtr "cf;\ lfttT f<rctim ~ql{~ .. ''bi"f='1i 

(d) ~ '!fi ~ i\lr.t it ftl"f!fft 

112. ~ 2014 it ~T ~ m ~ ISRT 

Mm, ~ ~ wm 311~f.iq; c:mm f.r.r 
(l!Wf ~ f.r.r) ~ ~it Pi'"'11'01f@a 
~~f<RR~: 

I. 21 <ff ~l<lli<ft it "fuf!f ~ ~ GlmiT 3ft< 
~"'lfqi( ~~~it~ m ~ 
C!iT ~ f.r.r ~ I 

2. ~ f.r.r it~ "lim< i>i4<1fu<(j q;) w.n 
;;rR" <m'iT i>ffuq;dl1 ~T 14 'f!f Cfqi 

f.IR'-<t d f<n<rr 1M ~ I 
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~it ~ q,'\;; m ;~ 'fitR ~ %;~ ? 

(a) ~I 

(b) ~2 

(c) I 3ft< 2 Gl"1T 

(d) ..,. -m 1,..,. m 2 

113. anmR ~ f<i;e" iii~ iii 1m( NGO 

"cf;\ ~ t ? 

(a) ~i'ffif.t<'l·~ 

. (b) ~~tllJift~ 

(c) mtf~ 

(d) cl<;IAq; ~ 

114. •• ql{<t'i"'"li' ~ ~ it f.i'"'1f.1f@a 

~~f<.ffi<~: 

I. ~ ql{<ti"'"11 f<$T +i"'l<14 ISRT ~ 
2o14 it m "cf;l 1f{ ~ 1 

2. ~"RI<~, ~ q~i"'"11 <iiT~~itG 
11\liei'R ~ ~ ~it ~ ofR ~ C!iT 

"T'f: ti <t I"' ., 3ft< "T'f: til N ., 1 q;("ifT, 

~ ~ ~it ~ oiR eif<!>fdq; ~ 
3ft< e{lq;j(l q;) m ~ wm Gf'f 

if<~; I ""'"<f f<f; ~ "RI< ~ ~ ~ 

~ Wjl: CIC:Ci<ff ~T it "<T$ 
ti~fd<(j "Ciil ~ ~ t I 

~ it ~ q,'\;; m /~ 'fitR ~ %;~ ? 

(a) ~I 

(b) ~2 

(c) I 3ft< 2 Gl"1T 

(d} ..,. -m 1,..,. m 2 
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115. Which of the following is not the 
recommendation of the Arvind Mayaram 
Committee on Rationalizing the FDI/FPI 
defmition (June 2014)? 

(a) Foreign investment of 10 per cent 
or more in a listed ·company will be 
treated as foreign direct investment 
(FDI) 

(b) In a particular company, an investor 
can hold the investments either 
under the FPI (Foreign Portfolio 
Investment) route or under the FD I 
route, but not both 

(c) Any ·investment by way of equity 
shares, compulsorily convertible 
preference shares/ debentures which 
is less than 10 per cent of the post­
issue paid up equity capital of a 
company shall be treated as FPI 

(d) On NRI Investors, the Committee 
recommended treating non-
repatriable investment as FDI 

' 

116. Consider the following statements about 
Star Alliance Network : 

I. Established in the year 1997, it is 
the leading global airline network 
with the highest number of member 
airlines, daily flights, destinations 
and countries flown to. 

2. Air India has recently joined the 
Star Alliance in a bid to gamer 
more revenue. 

Which of the statements given above 
· is/ are correct ? 

(a) l only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 
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117. Which of the following statements 
is/are correct? 

1. In June 2014, the World Heritage 
Committee has inscribed the Great 
Himalayan National Park Conserva­
tion Area (GHNPCA) on the World 
Heritage List on the basis of 
UNESCO Guidelines. 

2. The Great Himalayan National Park 
(GHNP) is located in Sikkim. 

Select the correct answer using ·the 
code given below : 

(a) I only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither I nor 2 

118. Baiji oil refinery is located at 

(a) Iran 

(b) Iraq 

(c) South Sudan 

(d) Russia 

119. Consider the following statementS: 

I. World Vitiligo Day is observed on 
25th June every year. 

2. Vitiligo is a progressive skin disease. 

Which of the statements given above 
is/are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

120. Stepwell Rani-lei-Vav was approved as a 
World Heritage Site by the UNESCO 
recently. It is located at 

(a) Rajasthan 

(b) Gujarat 

(c) Madhya Pradesh 

(d) Maharashtra 
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115. PIAI<'ifulct ~q;'R"ffi, fDI/FPI<lil qf{illt'll 

~ 3i'lRii<1·~ ~ ~ ~ ~ +11'11<1+1 

trfi!fu (Of!2014) <liT RN>IR~r~"%? 

(a) ~ '{4-l•lct <i;q;ft ~ 10"11fu~RP!T ~ 
3!fuq; ~ ~ft ~~T q;r ~Iff ~f\ 
~T (FDI) llRT~ 

(b) fcrnT f<f*o:ni;q;ft ~. ~ ~~rq; 'IT m 
FPI (cij[q,jf<:l<i'l ~f\ ~T) lffl'f ~ 
'IT FDI lffl'f ~ 'f¥hT <.<9: Wfim t, ~ 
GFit~~ 

(c) ~ ~. 3tPI<il4ct: qf{qO';ft4 

3lfu+JT;ft ~I R5<'i"l~l ~ f<f;<n 1Jm 

~ ~T. ;;IT fcrnT ~ <liT M 
';>Wcnr~ ~ ~ ~ 10~Td ~ 
q;ll' m, FPI 1lRT ~ 

(d) NRl ~~m 'f(, ~ trfi!fu i't 
3t~i'<1 lqo;ftll ~T q;r FDI lfRi't <liT 
Rl'hiR~r <liT 

116. ~ 3!<'ll<R! -itm ~ ~ ~ PIAR:if<!ld 

~ 'f( f1l'il"R ~ : 

!. ~ 1997 ~ 6t<ilftict, ~ ~ 
((!1<<'11\lofl, · ~ ~. 'd~Hqli'J 
~ am: ~it <liT ~ <iw <n<'IT 

mrviT f4~<t"'ll4l C(4@\1'1 ~ t I 

2. 3!fuq; ~ 1:"%'Jf q;<i't ~ WWf ~ "C(!R 

~ mor m ~ ~ 31<'114"+1 ~ 
e~R:ict m- 1Jm t 1 

•~~q;'Rm/~~~v~? 

(a) ~ 1· 

(b) ~2 

(c) 1 3ft< 2 GFtl 

(d) Of m 1, Of m 2 
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117. f.l&<~R:ifulct ~ ~ ~ q;'R m/~ ~ 
"%!~? 

!. Of! 2014 ~. UNESCO ~ m<fG~ff 
R1 Ol:icfl ~ 311m{ 'f( ~ 14<1 tt d trfi!fu 
i't "iR: ~+1 1•w1 ~FR "4T<f; m!ffUT ~ 
(GHNPCA) q;r ~ f4<1ttd ~ ~ 
;aR-1 ful ct f<f;<n I 

2. "itc: ~+11<'14'1 ~FR "4T<f; (GHNP) 

Rl~+i ~ 01qf"f>1ct "% I 

~ ~ ..m ~ 'I>[ "!!"lim q;{ ~ ~ 
~: . 

(a) ~ 1 

(b) ~2 

(c) 1 3ft< 2 GFtl 
(d) Of m 1, Of m 2 

11s. ~ "ir.r ~m Cfil(€ll'11 q;Q'l 31qf"f>1CI t ? 

(a) ~ 
(b} ~ 

(c) Gf!ffUT '!2R 
(d) lR! 

• 

119. PIA R:ifulct ~ 'f( f1l'il"R ~ : 
!. -(4-~ Plftf<'l•il ~ ~ 250f! q;r 

"l'f.1T!Il ;;mrr "% I 

2. PlrtR:i•n "C(Cfi ;a-a~l-ct< ~ ~. «f'iiT 

WT t I 

·~~'liF!m;~~~v~?. 
·(a) ~ 1 

(b) ~2 

(c) 1 3ft< 2 GFtl 
(d) Of m 1, Of m 2 

120. <:lift -<fiT -<ftq ~ q;r mor m ~ ~ 
. 1<RT ~ Rl<~tta "t<i<'! ~ ~ ~ 3t:J>'1IR;e~ 

:fu;<n 1f<lT ~ I ~ q;Q'l 'f( ~ "% ? 

(a) <1"1t<il'1 

(b)~ 

(c) +il'l1~~~f 

(d) +1\:;Ri"S( 
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SPACE FOR ROUGH WORK 

• 
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A 
'f'1'k1; : 100 

~T 

1. '<litm ~ ~ ~ ~ ""'· ~ ~'!Itt~ 'j;l'?il<lil <fit~ 3l<m' ~ ~ ~ ~ '!lilt flr.tT ~. 
'liCI' m ~ ~ '!1SQ ~ ~ ~ 'i W I 'll'ft ~ ~. ciT~ tltf ~ 'j;ffil<iil ~ <m'f ~ I 

2. ~!'lrr<Hif~ OMR~-ta<iiif, ~l'rr.i'R, 'fur~ am~ 'j;f?il<lil ~ A,B,Cm 
D tit, EQ1';I' ~ ~ fii·'I·T'f'~;tfl ~ m Rlti• I ft'i ~ ~ am ~ -q;f.t <fit f.lUl il I fl <!ut"W<I< <fit t I ~ 
~ wm: <fit "i"' I Rlti•lf<'i <fi'l ~ if ~ -~ f.'m;r ~ ~ ~ I 

3. ~ ~ ~ "'~ "it ~ 1'111; ~ "it 3l1'1<!i'l ,..------------.1· 
3!'RT Ol:!'fi+liq; ~ ~ 1 Will"!~ 'Ram~ 
'll'fW: I. • . 

4. ~~~it 120W<ffir (~) ~ 1'111; ~ 1 ~ wri~r fW;ft 3l't1: aiir.ft it~~ 1 ~ W<ffir 
it "11\ ~ (~) ~ 1'111; ~ I ._.m ~ ~ ~ <it '¥ <'I, for?! 3m ~ -'l'l<ii 'R ~ 'q;VfT ~ ~ I 
~ 3l1'1<!i'l il,m WI f<l; ~ ~ 3lfu4i ~-~ ~. err ~ ~ <it ~ ~ ;;iT 3l1'1<!i'l wifuil WI 1 ~ 

w.ffir il; ~ ~ 'lifi lft ~ ~ ~ I 
5. 3iT'l"'it 3!'f.! ~ ~ 3lWI ~ ~ 1'111; ~ ~ 'l'll4i 'R lft ~ q;f.t ~ I ~· 'l'll4i it ~ 1'111; ~T ~ I 
6. ~ w.mrr <~; 3i4i ti11A ~ 1 
1. ~ ~ fol; :m will"!~~ ftf1r.r w.mrr <~; ~ ~-'l'll4i"' ~ 'R'IT '!!"' .,g, 3l1'1<!i'l whr 

>ri!T!Ir-"1'1 il; ~~~iT~~ ¥J f'A'<ur ~-'l'll4i "it~ t I 

s. :m 3!'f.! ~~<it ~-'l'l<ii it 'IRil <~; mG <I'4T wl\TT <~; WIT'R "'~ ~-ta<ii armlff"' <it m 
~ I 3l1'1<!i'l 3!'f.! ~ Will"! ~ ~."'f.! ~ ar:plfu ~ I 

9. ~ q;m il; ~ 'l'll4i Will"! ~ il; 3R!. it ~ ~ 1 

10. -.r.ra ;md ~ 1ml ...-! : 
'"t{(fu<>o ~'i-"'" if <!utlil"l< m-u ~ ~ m:rn ;md ~ iml ~ fttn ~ I 

(i) ~ ~ il; ~ "11\ ~q;f<'<lq; ~ t I '3A1J<;iiR ~ ~ ~ il; ~ ~ 1'111; ~ '1<'RT ~ il; ~ 

~ ~ m ~ 1'111; am 'liT 'lifi• ~ ~ <~; ~ it q;m "'limr 1 

(ii) ~ ~ "'""'I;;"R ~ ~ 3lfu4i ~ ~ ~. m ~ m:rn ~ m;rr "'TT('ll, <rnf(r ~ 1'111; ~it~ 
~~~.mart m m ~ ~ <~; ~ "'q1ttil1tll< m ;otFt <lW 'liT~~ "11\(lTT 1 

(iii) ~ ;oAil<;'IR_WU ~ -~ ~ ~ f<l;zrr omrr t ~ ;ouil<;iil" wu ~ ~ ~ .omrr ~.m ~ 
~ ~- ~'Pli'lt ...-! ..W Wn "'W.'ll I 

Note: English version of the instructions is printed ori the front cover of this Booklet. 
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